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-1 ERBHOXREHHE
I O KRB R A2 2 1-1-1 1R T,

#&1-1-1(1) EREHEBOXTEHLE
Ef NOX SPM -
TR AR Ak B Hi PEHEREL | HEHRE i) ;/:X
kW (g/h&) | (g/hh)

T R—HF- 3tk (—IRHEH T A5 R ) 29 58 5 0. 625
7L R—H- 156t (—WRPEH T 2 % 5R_) 100 304 13 0. 625
T R—H- 18t (—RPEHI A A KR HRY) 135 532 21 0.818
T R—H- 21t (—IRHEH T A %) 152 595 24 0.818
Ny 7R 0. 08m* (=R A A%t 18 57 4 1. 000
Ny 7R 0. 25m* (=R A A5 41 78 5 0.784
Ny 7R 0. 25m* (—WRYEH A A%t 5 41 149 10 0.784
Ny 7R 0. 45m* (— ¥R A5 60 229 10 0.784
Ny 7Ry 0. 8m* (ZIRPEH A A K55 104 273 11 0. 784
Ny IRy 0.8m" (—IRPEHE A A % HAY) 104 396 17 0.784
Ny TRy 14m® (—RHEH T A% 5R) 164 615 24 0. 784
Ny TRy 1. 6m° (—WRHEH T A X 5RA) 165 618 25 0. 784
ZTNT T 10t 246 447 13 0. 741
LRSF I H 32-37t 364 332 14 0.823
N7 > 4t 137 199 6 0. 592
N7 > 11t 257 373 11 0. 592
N7y o (U L—dEEA) | At 132 236 7 0.731
cNZ v s (7 L—dER) | 10t 242 434 13 0.731
7 20t 235 691 20 0. 788
ra—o 7 L— 4.9t 42 125 6 0.729
ra—7 7 L—y 50-55t (—IRHEH T A% 5RA) 132 234 9 0. 729
ra—7 7 L— 60-65t (—IRHEH AT A xR 166 294 12 0.729
rma—7 7 L— 70t 170 541 16 0.729
rua—7 7 L— 80t (—RHEH I A K} 3RA) 170 301 12 0.729
ra—7 7 L— 100t (—HEH A A %F ) 184 362 14 0.729
ra—o 7 L— 100t 204 585 17 0.729
rua—7 7 L—r 150t (—RHEH A A5 ) 231 276 16 0.729
ra—o 7 L— 150t 221 703 21 0.729
ra—o 7 L— 200t 235 748 22 0.729
NGy L— 15t 125 216 6 0. 800
F—NTFL— s L— 150t 136 235 7 0. 800
F—NTFL— s L— 220t 191 349 10 0. 847
F—NTFL— 7 L— 400t 217 397 12 0. 847
FITFL— T L— 16t (—WRPEH T A% 5HRA) 140 284 11 0.721
STFL—r T L— 16t 140 510 15 0.721
ST7FL— T L—y 25t (= WRHEH T A % 57) 193 194 8 0.721
STFL—r 7 L— 25t (—WRHEH A & et ) 193 392 16 0.721
STFL— T L— 25t 193 703 21 0.721
STFL—r T L—y 35t (—WHEH AT A k3R 200 406 16 0.721
STFL—r T L—y 35t 200 728 21 0.721
STFL—r T L—y 50t 254 925 27 0.721
STFL—r T L—y 60t (IRHEH AT A6 ) 254 362 10 0.721
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#1-1-2(2) BEBBOXRK[EHHE
’Hﬁ}f NOX SPM _”
R Ak B PEHEREL | HEHFRER Bl
kW (g/h &) (g/h &)

STFL—r T L— 60t 254 925 27 0.721
STIFL—r T L— 100t 257 936 27 0.721
STIFL—r T L— 400t 257 936 27 0.721
TA—27 V7 h 2 itk 30 51 2 1. 000
T x—27 U7k 3t 37 63 3 1. 000
TR 9m % 96 120 4 0. 650
7 — A A — 7 O R AR R 3AKN  (—WRPEH AT A5t 3R 121 204 8 0.725
7 — AA— T PEHE AT | 34kN 121 366 11 0.725
THEEHUEAG | $hE 100-160t (—WHEH T A % 3RA) 147 582 23 1. 000
THERHUEAG 6 100-160t 147 1045 31 1. 000
%g;ﬁgﬁwwfﬁy/ 7  2000mm % 288 1,113 33| 0.847
KIEIT L —% 1300kg (—RPEHT T A% 5R7H) 104 245 14 0. 800
KT HE— gL L 5m° (—WRHEH T 2 5e o) 82 226 10 0. 567
KA LT —F 3.0m” (—IRPEH T A R 193 444 18 0. 550
i{i;;é;% 23-25 t 170 351 14 0. 889
a7 AGER 20m’ 168 347 14 0. 889
N7y o (hrxroVTHEH) 2t 98 77 2 0.325
T—H T L—F 3. Im (—WRPEH T A% HRAY) 85 173 7 0.679
A ¥va—7 8-20t (—RPEH A A K HA) 71 194 6 0.679
n—Ro—3 1012t (— P A A K 5HRA) 56 103 7 0. 643
n—RKo—7 10-12t 56 179 8 0. 643
RE#a—o 0.8-1. 1t 5 12 1 0. 609
VAZA 60-80kg 3 17 1 1. 000
REa R 40-60kg 3 17 1 1. 000
a7 ) — hRTH 40-45m*/h 118 381 12 0. 857
ayy ) — NIRRT H 90-110m*/h  (—RPEHI T A K5 5AY) 199 363 14 0. 857
ayy ) — NIRRT H 90-110m*/h 199 652 19 0. 857
N w7 2 RH—H 4. 4m® 213 375 11 0. 609
TATZ7IV T 4= v — | 2.4-6.0m (—RPEH A AXFHRA) 70 185 8 0. 625
28 S A AR 36m’/min 342 3, 169 93 1. 000
FEE)FEEE 200/220kVA (= IRPEH AT A% 5RA) 201 446 19 1. 000
a7 ) — MR 0.8-1. 2m*/h 18 85 6 0.925
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(1) SRAEMIESRBRRICHITHREE LIBE 10 £/ & O RMAEED HBRRK RO LLE

B 1 AR o EEE (R B B ) S OVRGEH B AR BRI, 5 10 E D b D L L
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(FHEE 2.3 ms)
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HfEERL, JEE 0. 4m/s LATF O HEUEE 2777,

LR AR - AR SR R T
HEFHAR : SRk 24 45 4 A~k 25 45 3 A (L4ER)  HEEHIRG : Sk 15 42 4 A~ 25 4R 3 A (10 42f)

B 1-2-1 BAEROLE

360

=)
n
=

=)
=
=
)
=
=

=]
o
=
]
=)
=

o]
=
=
=]
=
=

—_
=
=
=
=

B EL PR L EREE (%)
B ELEPE R L IR (%)

=]
=
n
=

=
=
=
=

0.0~-04mi=
0.5-~08mis
10--18m/z
2.0-=28m/ie
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4.0-~08mie
E.0~—79mss
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0.0~~04miz
05--09msz
1.0--189ms=
20--2 Amiz
30—39mss
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BT AR HOS S S BLR AT
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(2) BEFREIC & 5 AR ELERE R A H IR
B AL S RIS FE D S AW+ JRUR 2R L7 b D 2K 1-2-1 1R,

&®1-2-1(1)  EmE 3 EERE R R
ML BREE 01
MLNE!??"W\ i NNE NE ENE E ESE S E SSE S SSW S W WSW W WNW NW NNW N
0.5~ 0.9 533 402 208 11T S0 139 187 216 160 95 87 106 151 202 264 492 3443
{ 6.1){ 4.6)( 2.4)( 1.3)( 1.0)( 1.6)( 2.1)( 2.5){ 1.9)( 1.2)({ 1.0)( 1.2)( 1.7} ( 2.3)( 3.0)( 5.8) | ( 29.3)
1.0~ 1.9 207 154 79 65 60 159 343 329 192 36 33 33 41 40 87 238 2096
(2.4)(1.8)(0.9){0.7)(0.7)(1.8)( 3.9)( 3.8)( 2.2)( 0.4)( 0.4)( 0.4)( 0.5)({ 0.5)( 1.0)( 2.7) | { 23.9)
2.0~ 2.9 37 27 6 3 4 28 130 105 41 3 3 2 4 0 2 36 427
(o0.4){ 0.3){0.1)(0.0)({ 0.0)( 0.3)( 1.5)( 1.2)( 0.5){ 0.0)( 0o.0)({0.0){ 0.0)( - )}({0.0)0( 0.4} { 4.9}
3.0~ 3.9 15 0 1 0 0 2 33 15 0 0 0 1 0 1 1 2 71
(o.2)( - )to0.0)( -})( -)(0.00(0.4)(0.2)( -)( -)( -)(0.00( -)(0.0)0(0.0)(0.0)| ( 0.8)
4.0~ 4.9 ) 2 0 0 0 0 8 0 0 0 0 0 0 0 0 3 15
{ 0000 0:0) —~ 0 =3¢ =00 =000} =8 =30 =30 =W = Jl =¥l =1 =){0:08| [ 0.2)
5.0~ 5.9 1 0 0 0 0 0 0 0 0 0 0 0 i] 0 0 0 1
{ Q0. =) =l =0 = 08 =l =ikl >= 30 =00 =3 =00 =t =B =3 =i =] { 0]
6.0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
e T T N L L N T T L O T [ N N IO | N
r 795 585 294 179 154 328 701 665 393 132 123 142 194 243 354 771 6053
(9.1)( 6.7)( 3.4)( 2.0)( 1.8)( 3.7)( B.0)( 7.6)( 4.5)( 1.5)( 1.4)( 1.6)( 2.2)( 2.8)( 4.0)( 8.8) | { 69.1)
Tl 1.0 0.9 0.9 0.9 1.0 1.2 1.5 1.4 1.2 0.8 0.9 0.8 0.8 0.7 0.8 1.0
s 2704 (30.9 % ) e 8757 100.0 % ) ] 3 ( 0.0%) #lams 0.8
e EREsmEs. FRO( ) REBmE %) &5 (-) 2emsm
®1-2-1(2) ERE A EERE R HRHEE
HgL : JRaE 01
if-'.HiﬁF—'w\%.'-'; NNE NE ENE E ESE S E SSE S SSW S W WSW W WNW N W NNW N frd
mss)
0.5~ 0.9 2 17 29 50 40 24 1 9 7 5 3 3 3 22 12 8 248
(0.3)(2.5)(4.3)(7.4)(6.0)0(3.6)(1.6)(1.3){21.0)(0.7)( 0.4)( 0.9)( 0.4)( 3.3)( 1.8){ 1.2)| ( 36.9)
1.0~ 1.9 6 6 i 55 i 8 2 i 13 8 3 2 Y 3 8 15 17 2 i 136
(0.99(0.9(1.6)( 1.6)( 1.2)( 1.8)( 1.9)(1.2)( 0.4)( 0.3)( 0.1)( 0.4)( 1.2)( 2.2)( 2.5)( 1.8) | ( 20.2)
2.0~ 2.9 3 1 0 0 3 4 8 10 4 2 0 0 6 17 9 1 66
(0.1)(0.1)( -)( -)(0.4)(0.6)(1.2)(2.5)(0.6)(0.3)( -)( -)(0.9)(2.5)(1.3){0.1)] ( 9.8)
3.0~ 3.9 0 0 0 0 0 0 2 4 0 0 h 0 2 16 1 ) i 37
=00 =00 =)0 =00 -0 -)toe3)(0.6)( -)( -)(0.1)( -)(0.3)(2.4)(1.6)(0.1) | ( 5.5
4.0~ 4.9 0 0 0 0 0 0 0 0 0 0 0 [¢] 1 8 20 0 29
{ =) s=J{ =0 =4 =¥ =0 == =} = J{ =) =}t = B VAPEIBYY 30 =) | ( 4:3)
5.0~ 5.9 0 0 0 0 0 0 0 0 0 0 0 4] 0 i 4 0 5
{ =00 = 14 =0 =06 =30 =3 =R =R - M| =g 3 s 3 =Gyt oall =) G gy
6.0 Bk 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
{ =k = =M =Pl =30 =« B =t =W =W =l 0 ~J —=FC =l =¥ ~=)|'6 =}
ol 9 24 40 61 51 40 34 31 14 9 5 9 20 79 73 22 521
{ 1.3)(-3.6)( 6.0)( 9.1)( 7.6)( 6.0} ( 5.1){ 4.6)( 2.3){ 1.3} ( 0.7){ 1.3} [ 3.0){11.8)(10.9}( 3.3} | { 77.5)
Tty Wl 1.3 0.9 0.8 0.8 0.8 1.0 1.5 ‘1.8 1.3 1.2 1.4 1.0 1.9 2.2 2.8 1.2
wig 151 (22.5 % ) LoE 672 ( 100.0 % ) il 0 ¢ 0.0% ) 4 i 1.2 m/s
E bEdmmEk FE O( Jadnms ) #2579 (-) sommEEL
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= 1-2-1(3) LM 5 JELE RS & A R SE
A BREE 02
|_6__ii'!5f%.‘é.\ (47 NNE NE ENE E ESE S E SSE s SSW S W WSW W WNW N W NNW N fret
0.5~ 0.9 1 3 2 a 2 14 50 91 6 2 1 2 2 13 13 5 209
(0.1){ 0.4)({ 0.3)( 0.3)( 0.3)( 2.1)( 7-4)({13.5)( 0.9)( 0.3){ 0.1)( 0.3)( 0.3)( 1.9)( 1.99({ 0.7) | ( 31.1)
1.0~ 1.9 3 3 1; 1 6 16 28 31 b § 0 25 0 3 13 21 4 132
(0.4)( 0.4)( 0.1)( 0.1)( 0.9)( 2.4)( 4.2)( 4.6)( 0.2)( - )(0.1){ - )(o0.4)(1.9)( 3.1)( 0.6) | ( 19.6)
2.0~2.9 0 0 1 0 0 0 ) 3 b 5 0 0 0 0 9 20 2 42
§ =00 == )il 0030 =) = Y0 =00 0:09)f B8y 013 o} == J = o= ) T30 9.3) | {0 6.2)
3.0~ 3.9 0 0 0 0 0 0 0 3 0 0 0 0 0 3 3 0 9
{ =)0 =) =)0 =3 =)0 =¥ =)3004)( =<Jf =3 =) =)0 =) 0:8) (04}t =12 ( 1.3}
4.0 4.8 0 o o 2 o 0 o o 2 o 2 o 0 2 2 o 2
t =A== =06 =3t =3 =)t =¥ 3¢ =¥ =€ =1 =3¢ =} = Fre3yy =1 0.3
5.0~ 5.9 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
{ =Jlis== =00 =3 =)0 =3 =31 =2 =) =) =M =30 =¥ =3 =} =)0 =}
6.0 MUk 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
M i R I it I L O ¥ I i (I G ARG R Gl Il S i e 4] I S
5 4 6 4 3 8 30 B4 128 8 2 2 2 5 38 59 i | 394
(0.6)(0.99(0.6)( 0.4)( 1.2)( 4.5)(12.5)(19.0)( 1.2)( 0.3)( 0.3)( 0.3)( 0.7)( 5.7)( 8.8)( 1.6) | ( 58.6)
A 1.1 1.0 1.2 1.1 1.0 1.0 1.1 0.9 1.0 0.6 2 i 0 0.7 B 1.5 1.8 1.2
wig 278 (41.4 % ) [oE T 672 100.0 % ) el 0D 0.0% ) A 0.8 m/s
# EEimmEgk. FE [ )mitims o0 253 (-) timgmEiL
F1-2-1(4) &M 5 ELERE A B SR R
i‘mJ)\\ f%j% 03
h:uiaﬁfa\ﬁ.--'-; NNE ©NE ENE E ESE S E SSE s SSW S W WSW W WNW N W NNW N frat
0.5~ 0.9 5 13 26 98 32 19 5 5 3 4 9 12 5 6 5 6 253
(0.7){ 1.9)( 3.9)(14.6)( 4.8)( 2.8)( 0.7)( 0.7)( 0.4)( 0.6)( 2.3})( 1.8)( 0.M)( 0.9)( 0.7)( 0.9) ]| { 37.6)
1.0~ 1.9 5 2 12 81 21 18 7 3 11 21 35 25 12 0 0 1 254
{ 0.7)( 0.3)( 1.8)(12.1)( 3.1)( 2.7)( 1.0)( 0.4)( 1.6)( 3.1)( 5.2)( 3.7)( 1.8)( - )( - )(0.1)]| ( 37.8)
2.0~ 2.9 0 0 1 5 9 B 6 3 3 18 27 4 4 0 0 0 BS
( =)0 =-)1o01)(0.7)(1.3)(1.2){0.9)(0.4){ 0.4)( 2.7)( 4.0){ 0.6)( 0.2)( -)(C =) =) (12.6)
3.0~ 3.9 0 0 0 0 2 4 4 2 2 9 5 0 0 0 0 0 28
( =30 =30 =)0 =)0 03) (0.6)( 0:8){:0:3)( 0:3) ( 2. 3)C 0.7)( =} =)0 =)0 =)0 =] ( 43}
4.0~ 4.9 0 0 0 0 1 0 2 0 0 0 0 0 0 0 0 0 3
( -3 =)0 =)0 -)yto)( -)(03)( - =)0 =)0 =)0 =)0 =)0 =)0 =)0 -)]( 0.4
5.0~ 5.9 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
C =l =0 =0¢ =) =0 = =30 =k =} =} =3 =Pt =3 =3l =kt =] 2 i)
6.0 pkt 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
= =3 =)k =3 =3l =) =P =pt =3¢ =Pt =4 =kl =)4 =) =¥ =9 =)
ot 10 15 39 184 65 49 24 13 19 52 76 41 18 6 5 7 623
( 1.5)( 2.2)( 5.8)(27.4)( 9.7)( 7.3)( 3.6)({ 1.9)( 2.8)( 7.7)(11.3)( 6.2} ( 2.7)( 0.9)( 0.7)( 1.0) | { 92.7)
Tk 0.9 0.8 0.9 1.0 1.2 1.5 2.0 1.5 1.6 v b b 1.8 1.3 1.2 0.7 0.6 0.7
Wi 49 ( 7.3 % ) e 672 100.0 % ) il 0 ¢ 0.0% ) 045 1.2 mv/s
i aammeEt. TR O )midims o) 2. (=) hmsesL
Be 1-2-3




= 1-2-1(5)

2 1R 31 LR B e 31| EH 3R A5

HigL : JRIE 02
I.uil*m\ﬁ--'-: NNE NE ENE E ESE S E SSE s SSW S W WSW W WNW N W NNW N frat
(m/s)
0.5~ 0.9 4 6 18 51 50 36 20 9 4 9 5 9 16 11 7 12 267
(0.6)({0.9)(2.7)(7.6)(7.4)(5.4)(3.00(1.3)(0.6)(1.3)({0.7)(1.3)( 2.4)( 1.6} ( 1.0)( 1.8) | { 39.7)
1.0~ 1.9 0 1 1 19 16 13 16 14 18 19 11 13 17 16 11 1 186
( ~ )1 0.2)(0.3)(2:8)( 2.4){ 1.9)( 2.4) (-2:2){ 2.7)( 2.8} ( 1.6)( 1.9)( 2.5) ( 2:4)1 1:6) ( 0.1} | [272.7)
2,0~ 2.9 0 0 0 0 0 0 1 11 22 7 6 5 0 3 13 0 68
(-3 =20 =20 -0 -0 -)(0.1)(1.6)(3.3)(21.0)(0.9(0.7)( -)(0.4)(1.9( - ) {10.1)
3.0~ 3.9 0 0 0 0 0 0 0 8 14 3 1 0 0 0 0 1 27
-0 -0 -0 -0 -0 -0 - 122009 (0.)( -0 - 30 -} -1(0.1)) ( 4.0)
4.0~ 4.9 0 0 0 0 0 0 0 3 9 0 0 0 0 0 0 12
{ =) =30 =0 =3t =)t =3 =dCEAYL3 - i = 30 =¥F =30 =¥ =¥ =3 | ¢ 28)
5.0~ 5.9 0 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 4
L =0t =000 =0 =) = 3 = B =)0 s )0GeNE = M = =00 = )4 =3l = ECU =) | € 0.6]
6.0 it 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
=0 =l =0 o Pl = J4 = P =0 enff = J4 = 3 =i =0 = T = P = B =] (I =)
fr &t 4 7 19 70 66 49 37 45 71 38 23 27 33 30 31 14 564
(0.6)(1.0)( 2.8)(10.4)( 9.8)( 7.3)( 5.5)( 6.7)(10.6) ( 5.7)( 3.4)( 4.0)( 4.9)( 4.5)( 4.6)( 2.1) | ( 83.9)
L 0.7 08 07 0.8 0.2 08 11 2.0 2.6 1.6 1.6 1.3 1.0 1.2 1.7 0.9
w108 (16.1 % ) WA 672 ( 100.0 % ) ) 0 ¢ 0.0 %) aEE 1.2 m/s
i bmmmEt. FR () meamnE o) eRT. (-) SHEEEsL
& 1-2-1(6) EFABIELERE A HEHE
iR BRBE 04
ﬁ*ﬁ:a&\lﬁ.-:-; HNE NE ENE E ESE S E 8SE s SSW S W WSW W WNW N W NNW N i
(mss)
0.5~ 0.9 85 93 82 59 60 86 82 95 107 113 111 108 79 76 76 93 1405
{1.0)( 1.1)( 0.9)(0.7)(0.7)( 1.0)( 0.9)( 1.1)( 1.2)( 1.3)( 1.3)( 1.2)( 0.9)( 0.9)( 0.9)( 1.1) | { 16.0)
1.0~'1.9 169 216 124 93 101 148 197 216 329 3Bl 297 159 76 71 73 142 2792
(1.9)(2.5)(1.4)(1.1)(1.2)(1.7)(2.2)( 2.5)({ 3.8)(4.3)(3.4)(1.8)(0.9)(0.8)(0.8)(1.6)] ( 31.9)
2.0~ 2.9 74 182 58 13 10 24 43 121 229 300 200 46 15 7 11 13 1346
(0.8)(2.1)(0.7)(0.2)(0.1)(0.3)( 0.5)( 1.4)( 2.6)( 3.4)( 2.3)( 0.5)( 0.2)( 0.1)( 0.1)( 0.1) | { 15.4)
3.0~ 3.9 29 95 34 2 2 4 13 59 154 244 141 45 10 5 4 10 891
(0.3)(1.1)(0.4)(0.00(0.00(0.0)(0.2)(0.7)(2.2)(2.8)(1.6)(0.5)(0.1)(0.1)(0.00(0.1)] (10.2)
4.0~ 4.9 22 77 30 0 0 0 8 42 222 191 8l 42 5 1 2 1 730
{ 0.3) 069y { 0.3)( - )t 30 =} 0)(0.5)(2.6)( 2.2y(0:9){ G.5){ o2} (0.0} (@0} 0.3) | ' -8.3)
5.0~ 5.9 41 69 14 0 0 1 1 30 191 149 58 23 3 6 2 4 592
(o.5)(o08){0.2)( -)( -)(o0.0)(0.0){0.3)(2.2)(1.7)(0.7)(0.3)(0.0)(0.2)(0.0)(0.0)|] ( 6.8)
6.0 & 84 138 17 0 0 0 3 g8 163 98 59 23 0 6 2 3 604
{ 000 6){ 0.2){ ~ 30 ~ 30 = ¥{ 00} { 02} ( 1.9)( LA (0. (6.3} ~ }00:.3) (000 0.0) | ' 6.9
& 8t 504 870 359 167 173 263 347 571 1435 1476 947 446 188 172 170 272 8360
{5.8)(9.9)( 4.1)( 1.9)( 2.0)( 3.0){ 4.0)( 6.5)(16.4)(16.8) (10.8)( 5.1)( 2.1)( 2.0)( 1.9)( 3.1) | { 95.4)
g .1 33 2.3 1.2 1.2 1.3 1.6 2.2 3.4 3.1 2.7 2.3 1.4 1.5 1.3 1.5
ms 400 ( 4.6 % ) (GRS 8760 ( 100.0 % ) il 0 ¢ 0.0 %) amE 1.7 m/s
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®1-2-1(7)  BEBIERRER S HRERE
s BREBE 05
r.éﬁ_rfm\ B NNE NE ENE E ESE S E SSE S SSW S W WSW W WNW N W NNW N frat
(m/s5)
0.5~ 0.9 20 2 0 1 0 1 5 37 33 1% 5 3 3 4 3 8 136
(3.00(0.3){ -){0.1)( -)(0.1)(0.7)(5.5)( 4.9)( 1.6)( 0.7)( 0.4)( 0.4){ 0.6)( 0.4)( 1.2) | { 20.2)
1.0~ 1.9 0 1 0 0 0 0 1 34 30 7 5 1 3 8 2 97
{ -J1(0.33( -1( -3{ =)0 -)i{0.1){ 5.1j( 4.50( 1.0){ 0.7){ 0.1){ 0.4)( 1.2){ 0.7)( 0.3) | { 14.4)
2.0~ 2.9 0 0 0 0 0 ] 0 14 9 B 2 1 0 3 7 1 45
(=36 =3 =)0 <3¢ =¥t =30 = )6228 1.3} 1.2 ( 0.3)( 0.3)( - }{ o.4){ 210} (Ga) | { 6.7)
3.0~ 3.9 0 0 0 0 0 0 0 3 0 1 1 1 0 2 3 2 13
C =30 =30 =30 =00 =M =30 =30 GA¥{ = 10020 G300 D2} 0 o= )X 0:3) 070241 000-3) | 1 2.9)
4.0~ 4.9 0 0 0 0 0 0 0 ¥ 0 Y 0 0 0 0 0 0 2
(=0 =2k =30 =0k =)0 =06 =003y =300k =30 =3¢ = 3t =3 =3f =) "0:3)
5.0~ 5.9 0 0 0 0 0 0 0 0 0 0 0 ] 0 0 0 0 0
=6 =30 236 =)0 =¥t =90 =¥ =¥ =l =H =W =)= =¥ =3 =¥ & =)
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mBgE | 1.4 | 2.3 14| 1.2 1L.3|53] 14 |11.4] 4.1 0.3]0.3 0.1]0.3]|0.7] 552
TrgmEsk | 1.6 | 1.4 | 1.5 | 1.4 1.6 |1.5| 1.8 | 1.8 1.7 1.4 1.3 1.3 1.5 | 15| 0.7
mEgEee | 18| 1 | 0.5|05] 1 |3.3[13.6]5.3]3.1 0.7]0.3 0.3]0.8|1.4]| 656
wrgmEs | 1.6 | 1.7 1.3 1.4 1.3]1.9]|23]1.9]1.8 1.4 1.4 L1|1.6|16]| 0.6
mEgEEE | 6.7 0 | 0 0 [6.7] 60 [26.7| 0 0 0] o0 o0 0
4k 0] 0 0 [3.4]33[32]| 0 0 0] o0 o0 0
HH B B 20| 0 |33 0 | 0 |30 ]16.7]6.7 331 0 0 | 0 |13.3 0
RR0 60 2.1 0 0| 0 |33[31] 2 2.9 0 0| 0 |23 0
R 0] o0 0| 0o ]100]| 0] 0 0 0] o0 o0 0
TR 0] o0 0] 0 |41|o0 0 oo | o 0
B 1.9/07]05|02]02]|08]16] 1. 0.6 | 0.5 0.5]0.7|38]| 825
T L.7|1.5]1.3|1.9]1.4]| 1.6 18] 1 1.4 1.4 1.4 1.3|17] 0.5
B 10 10 0 0 0 0 30 0 0 20 0 0 20 0
S5 JEGH 2.2 2.2 0 0 0 0 2.7 0 0 2.2 0 0 2.3 0
HH R A 13.3 0 0 0 0 6.7 6.7 0 0 0 6.7 [26.7 0
S JRE 2 0 0 0 0 2.3 2 0 0 0 2 2 0
HH B A 0.810.2]0.1 0 0.210.2]0.1]0.1 0.1 0 0.310.9 2 93.3
SR R 1.2 1.6 1.5 1.8|13|15]|1.6]| 15 1.1 ] 1.1 1.2 ] 1.3 | 1.3 0.5
£ 1-3-10) FRALERREHS
TR - BREE 07
- HEEED HBUEIE (%) K OSPHIRE (n/s) S
B B
LRER NE | ENE | E | BSE | SE | SSE | s | ssw | sw |wsw | w NWO| N[N (%)
mEgee | 3.3 1.6 1.6 0 | 6666|4949 0 | 0o | 0| 0 |1.6]82[19.7]49| 36.1
wegms | 1.5 1.3 1.6 0 | 1215|1815 0o | 0| 0| 0 |1L2|15|16|1.5] 0.7
HEEEE |0 1 0| 0 |41]52]|41] 1 0 1 0 |2.1|6.2]16.5|2.1]| 56.7
S5 JEGH 0 1.8 0 0 0 1.2 | 1.6 | 1.6 | 2.5 0 1.6 0 1.2 | 1.9 ] 2.1 2 0.5
H U 0 0 1.4 1.4(12.8|42]83|42] 1.4 0 0 0 0 8.319.7 0 58.3
SR R 0 0 2 1.6 | 1.2 |1.7] 1.8 2 1.6 0 0 0 0 2.8 | 2.5 0 0.5
HH R A 0 0 0 0 0 0 0 0 0 0 0 0 0 0 100 0 0
S JRE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 3.1 0 0
HH B 0 0 0 0 0 0 0 |16.7| O 0 0 0 0 0 [83.3| 0 0
@ | 0 | o | ol o | o] o] o0 32|01/ o0 ]| 0| o] 0] o0]33]0 0
mEgg | o | ol ool ool o] o|lo]o|lo]| o o] 0| 0] o0 0
S5 JEGH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
g | 0 | 0 | 0o | 0| 0 |1.4]81]34] 0| 0] 0] 0| 0272 0 82.4
wegmEsE | 0 | o | o | o | o |13|17{L7| 0| 0o | 0| 0] 0 |21]|1.3]o0 0.4
wEggee | 0 | 0l ol oo | o |55 |5 0] o0oflo]|o0of|o0o]| 0| 0] o0 0
S RS 0 0 0 0 0 0 2.1 3.4 0 0 0 0 0 0 0 0 0
HER B 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
SRR 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
HH B A 0 0 0 0 0 0.4 (1.8 4.9 0 0 0 0 0 0.4 0 0 92.6
SR R 0 0 0 0 0 1.3 ] 1.3 1.2 0 0 0 0 0 1.5 0 0 0.4

R 1-3-2
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& 1-3-1Q) PRHICAVVEIREH
TR« BRET 08~09
K AIBREO HBBUE (%) KO (n/s) S
| m HiBLE
R NNE NE ENE E ESE SE SSE N SSW SW WSwW W WNW NW NNW N (%)
mEgEg | 0 | 0 |1.5]59| 0 | L5]| 0 7.4 116.2(22.1|14.7[ 88| 0 | 0 | 0 | 22.1
% om0 [0 [1s][rts[ 0 [12] 0 L5 15|15 14|14 0 | 0 | 0| 09
HIEBEE | 2.5 0 2.5 0 0 1.3 0 1.3 | 2.5 |156.2|16.5|17.7| 7.6 0 0 0 32.9
ATD FHyEsE | 14 0 1.5 0 0 1.3 0 1.1 1.9 1L9]|18]| 16|15 0 0 0 0.8
HAERLSE 0 0 1.5 (6.2 0 1.6 | 3.1 1.5 0 |16.4(29.2] 0 0 0 0 0 41.5
b SYH4) JRLE 0 0 1.6 | 1.6 0 1.9 L 2.3 0 2.5 | 2.2 0 0 0 0 0 0.7
HAERSE 0 0 0 0 0 |12.5| 0 |12.5[12.5[37.5| 25 0 0 0 0 0 0
boC SH) JRLE 0 0 0 0 0 3.9 0 3.3 13.3]3.2 3 0 0 0 0 0 0
HI B 0 0 0 0 |11.1] © 0 0 |11.1]33.3|38.9| 5.6 0 0 0 0 0
¢ S 0 0 0 0 2.6 0 0 0 2.5 3 2.6 | 2.4 0 0 0 0 0
mEEE |0 0 0 0 0 0 0 0 0 0 0 0 0 0
P gm0 ] 0] 0] o o o o 0 o oo oo 0
H B 0 0 2 116.1]6.8|7.5]|07]|1.4]|3.4]|3.4 0 0 0 0 0 64. 6
v P 0 0 1.8 | 1.5 2 2.2 | 2.7 3 2.2 12221 0 0 0 0 0 0.6
g | 0 | 0 | 0 | 0 |16.7]33.3| 50 | 0 | 0 | 0 o lofo]o]o 0
" [wmma [ 0 [0 [0 [0 |33 3 [28] 0 0o oo oo o 0
g | 0 | 0 | 0 |17.6(35.3]23.5|5.9|11.8) 0 | 0 |59 0 | 0 |0 |0 |0 0
" [ma [ 0 [0 [0 |2 [24]22|24]24] 0 |0 [22]0 0] o] 00 0
g | 0 0.8 1.1]19.7)1.9[2.7/04[04/08] 0 oo oo | o] 723
© [Twma | 0 [L1|is|ta|ra|te|ti]|r2]15] 0 oo oo o] o7
& 1-3-1() FRICAV-SREH
TR BRET 10
KR HRISOHBURE (%) K OFHEE (n/s) S
& i B
LRER NNE NE ENE E ESE SE SSE S SSW N WSwW W WNW NW NNW N (%)
H B A 0 1.6 0 0 0 1.6 0 1.6 | 4.7 |17.2] 9.4 |12.5|14.1| 7.8 | 3.1 0 26.6
a P 0 1.2 0 0 0 1.2 0 L3 15| 15|15 1.4|15|1.3]13 0 0.8
H B A 0 0 0 0 0 0 1.3 ]12.6|10.3|11.5|5.1|3.8|3.812.8] 9 0 39.7
AP wm [0 [0 [ oo oo |r2]2s]2 [ts|rr|is|rz|ie|L7] 0 | o6
g | 0 | 0 | 0 | 0 | 0 | 0| 0 |46]2 |62]92|31][31]|46[10.8] 0 | 385
P [wwmt | 0 [0 o000 oo |15|25|26|2s[19]1a]L7]21] 0| 05
g | 0 | 0 | 0 | 0 | 0 | 0 | 0 |20 | 40| 40 oo oo 0
P w0 [0 [0 [0 o[ o]0 [33]s2]a4 oo oo 0
g | 0 | 0o | o | 0o |0 | 0| 0 |133|733] 0 |67[67] 0 | 0] 0|0 0
¢ SJF4) L 0 0 0 0 0 0 0 3 3.3 0 2.11 2.2 0 0 0 0 0
HAERLBE 0 0 0 0 0 0 0 0 100 0 0 0 0 0 0 0
P FEmEE | 0 0 0 0 0 0 0 0 |4.2] 0 0 0 0 0 0 0
H B A 0 0 0 3.8 | L. 2.5 25|83 |1L.5] 1 0 1.3 0 0 0.6 0.6 65.6
v P 0 0 0 1.2 1121215 3 3.4 | 1.6 0 2.1 0 0 2 3 0.5
HAERSE 0 0 0 0 0 0 |16.7]33.3[33.3| 0O 0 0 0 0 |16.7| 0O 0
" [wwm | 0 [0 [0 0o o 2329280 0 o0 0o [29]o0 0
s | 0 | 0 | 0 | 0 |0 | 0 | 0 |444]222] 0 | 0 | 0 | 0 | 0 |33 0 0
" w0 [0 [0 oo oo |25[21]0 0 o0 0o [26]o0 0
o | mmuE | 0 [ 0 04| 3 2222|413 [L1[ 0 |0 [0 | 0|0 |1L1[04]| 826
© [ygma [ 0 [0 Jre|re]r2|1s|1s]ts|1s] 0 0] o] o] o |Le[L2] 06

TE 1L A EEE : JEGHE 1. Om/s A, §5FURE : JEUE 1. Om/s LT
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£ 1-3-16) FRIAVEEREH
TR« BRET 11~18
K% AR O HBBUE (%) KO (n/s) S
R HiBUE
RIEE NNE NE ENE E ESE SE SSE N SSW SW Wsw W WNW W NNW N (%)
WEEE | 2.1 1.9 2.4 2.7|45|58|6.6|98|15.1|14.1]7.2]|4.2|2.4]1.3]0.8] 1.3 17.8
A Fmd | 1.5 | 1.6 1.3 | 1.6 | 1.5 | 1.6 | 1.4 | 1.6 | 1.5 [ 1.6 | 1.5 | 1.4 | 1.4 | .3 | 1.3 | 1.4 0.9
iBEEE | 2.2 3.6 3.1 2.8 1.6]3.9]5.1|84]15.9| 15 | 5.6 2 1.210.3]0.9] 1.1 27.1
ATE FryEaE | 1.8 | 1.8 2 .71 1.5]1.6]1.5] 1.8 2 2 L7115 1512|1416 0.8
B | 1.9 4 1.3]10.6]2.1]3.6 7 [19.1]20.5]8.9]2.5|08|1.3]0.6]|1.7 21.2
b EHgEaE | 2.3 | 2.3 2.7 | 1.5 2 2.3 2.6 |25 |2.2|23]|22|1L8|L7]|22 0.7
H B 3 7.4 | 4.4 0 0.7 10.7]5.9|28.1]28.1|13.3|3.7]0.7]0.7] 15|15 0
boc EHgEaE | 3.5 | 3.4 | 3.2 0 3.3 13.3(13.2(3.5]3.5|34|3.2]3.4]35]|38]3.5 0
MEEE | 5.4 9.9 1.8 0.2 0 0.2 1 3.4 129.625.4(15.5| 4.4 0.410.6 1 0
¢ SEHyEE | 6.5 | 5.2 3.6 | 3.1 0 3 3.6 13948 |44|42]|42 3 5.8 4 3.7 0
WEgEE | 3.6 | 7.1 | 2.4 0 0.4 3.6 [34.5(26.6|11.9| 7.1 0.4 | 1.6 0.8 0
cr FHEE | 5.4 49| 4.5 0 4.6 5 49149 ]48|52|47]|55 4.9 0
WEEE | 4.7(9.612.6(0.7(0.7|1.2]25]|53|17.8| 18 [10.1]3.9|1.2]0.8|0.7| 1.5 18.7
v PR | 5.2 5 4 1.4]1.6|1.7] 2.1 3 4.3 (13.8[3.5]3.5|2.2|31|24]|24 0.7
HBEE | 4.7 116.616.710.3| 0 |0.6|3.2]9.6[14.5]|19.2(17.2| 6.1 | 0.6 0.310.6 0
5 S8 JE 3 (323221 0 |25 3 [31]|31]28]|2.9]| 3 |3.5 2.2 3.7 0
WEEE [ 12.9129.716.710.8(0.8| 2 |[2.2]6.2|7.8]|11.8[13.7|2.2 0.8 1.4]0.8 0
" Erymss | 2.3 | 2.5 2.3 2 |2.2]23|2.3|2.4|25|25)|2.4]|25]|22 2.3 2.3 0
WEEE | 4.6 | 5.8 | 3 1.5 |2.1]25]|2.4| 2 3 5 | 5.1 3 1.2 1.7 3.8 | 52.2
¢ Erymss | 1.5 1.5 | 1.4 1.4 | 1.3 | 1.3 | 1.4| 1.5 14| 15| 15]|1.4]13 1.3 ] 1.4 0.7
£ 1-3-1(6) FRAICAWERREH
TR BREE 19
K RSO HEEIE (%) B OTH)RE (n/s) S
& i HHEBBH
RIEE NNE NE ENE E ESE SE SSE S SSW SW WSW WNW NNW N (%)
H B 0 0 0 0 0 0 0 [14.3|1L.7| O 0 0 2.6 0 0 71.4
8 P 0 0 0 0 0 0 0 1.4 1.3 0 0 0 1.5 0 0 0.7
H B 0 0 0 0 0 0 0 [19.5|1L.7| O 1.3 0 1.3 0 0 66. 2
Ae SR8 JE 0 0 0 0 0 0 0 1.8 1.5 | O 1.5 0 1.8 0 0 0.5
HBUE 0 0 0 0 0 0 0 [8.6|7.1]12.9] 1.4 2.9 1.45.7]29] 557
b ) R 0 0 0 0 0 0 0 |2.1)22] 2 |28 1.2 1.2]22]2.8 0.4
HELBE 0 0 0 0 0 0 0 [33.3| 0 0 |33.3 0 0 ]33.3 0
boe ) R 0 0 0 0 0 0 0 |35 0 0 |3.3 0 0 | 3.4 0
HBUEUE 0 0 0 0 0 0 0 |I1L.1|11.1]33.3|11.1 0 1.1 0 0
¢ RS:5)560 0 0 0 0 0 0 0 2.1 12.2]2.6]2.1 . 0 2.2 0 0
HH B 0 0 0 0 0 0 0 50 0 50 0 0 0 0 0
P FEmEE | 0 0 0 0 0 0 0 | 43| 0 |4.4 0 0 0 0 0
HERLBE 0 0 0 0 0 0 0 5.4 2.7 0 0.7 0 0 3.4 0 85
v P 0 0 0 0 0 0 0 1.8 2 0 1.7 0 0 2.1 0 0.3
H B 0 0 0 0 0 0 0 25 25 0 0 0 0 25 0 0
K P R 0 0 0 0 0 0 0 |2.2)22] 0 0 0 0 3.8 1 0 0
H B 0 0 0 0 0 0 0 30 | 20 | 10 0 0 0 30 0 0
" S R 0 0 0 0 0 0 0 |2.7(26]2.2| 0 0 0 2.5 0 0
. H B 0 0 0 0 0 0 0 1.1 ]1.1]0.4]0.7|0.4]0.4 0 |0.4| 95.2
¢ S R 0 0 0 0 0 0 0 1.3 15| 15| 1.4|1.3]| 17 0 | 1.2 0.2

TE LA RURE - JEGHE 1. Om/s . FFFEURE : JEUE 1. Om/s LT
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# 1-3-1(7) FRAICAV:=-SREH
TR BRER 20
K AIBREO HBBUE (%) KO (n/s) S
| | B
LEN NNE | NE | ENE | B | ESE | SE | SSE | S | SSW | SW | wsw | W | wNw | NW | NNW | N (%)
HH B 0 4.9 1 6.6 [14.8]14.8]14.8| 9.8 4.9 | 1.6 | 1.6 0 1.6 0 1.6 | 1.6 21.3
A S R 0 1.3 | 1.3 (1.6 | 1.5 1.4 |1.4]1.3]|]1.1]|1.2 0 1.2 0 1.1 ] 1.8 0.8
HEgEE | O 2 2 |13.9|15.8 7.9 | 2 4 1 2 0 3 5 3 37.6
ATB T mE | 0 |24 | Li|L1|16] 2 |Le|L7]La|Li|L3] o .8 1.8 )22 0.8
msge | 1.8 3.5 1.8 3588 7 [88|18]| 0 0 |1.8]1.8]1.8]1.8]10.5|8.8| 36.8
b sergma | 1.3 1.2 1.2 1.9 21| 1.9]1.8]1.3] 0 0 |16 2 |L7|L1] 2 |L6] 0.6
mEgEE | O 0 0 0 | 100] 0 0 0 0 0 0 0 0 0
BmC Mms | o 0 0 0 0 |34] 0 0 0 0 0 0 0 0 0
B | 0 | 5.6 | 0 0 0 |27.8|5.6|56| 0 0 0 0 | 56| 0 |16.7|33.3 0
¢ EyEE | 0 2 0 0 0 |42|23]26]| 0 0 0 0 |31 0 |21]24 0
g | 0 0 0 0 0 0 0 0 0 0 0 0 0 0
P gmm | 0] 0] o o] o 0 ol ool o o] o | o 0
HEEE | 0 0 0 0 |35|21]07|1.4] 0 |07] 0 |07]|28]|57|[14.2|17.7| 50.4
P SRR |0 0 0 0 |1.5|1.8]1.9|1.5] 0 |1.2] 0 |1.5|1.4]|1.9] 2 2 0.5
HERLBE 0 0 0 0 2.7 (2.7 0 0 0 0 0 0 2.7 110.8|81.1 0
K SR JE s 0 0 0 0 3.2 |1 2.6 0 0 0 0 0 0 2.4 3 2.6 0
HH B 0 0 0 0 2 2 2 2 2 0 0 0 2 10 74 0
F S LG 0 0 0 0 2.6 |12.2| 2.7 2 2.1 0 0 0 2.5 12.8]2.31|2.3 0
HH B 0 0 0 0 0.5 1 0 0 0.5 0 1 1.5 2.4 [22.3]26.2 44. 7
¢ S LG 0 0 0 0 1.5 | 1.2 0 0 1.6 0 1.5 | 1.5 | 1.5 | 1.4 | 1.5 0.6
= 1-3-1(8) FHICRAVE=RREH
TR ;B8 21
KR HRISOHBURE (%) K OFHEE (n/s) S
B 1) HHEL
LI NNE | NE | ENE | E | ESE | SE | SSE | S | ssw | sw | wsw | w | wNw | N | N | N %)
mEEE | 4.8 | 8.1 16| 0 | 1.6]| 0 0 |3.2|17.7]22.6| 0 0 0 0 0 40. 3
A ymE | 1.6 | 1.6 1.9 0 | 1.1] 0 0 |1.5|1.6|1.5]| 0 0 0 0 0 0.7
WEsERE [10.3] 9.2 1 9.2 | 3.4 0 0 6.9 |13.8| 6.9 0 0 0 0 0 1.1 39.1
ATB SEHEGE | 1.8 2 1.9 | 1.6 0 0 1.3 | 1.9 2 0 0 0 0 0 1.5 0.6
HEsERE [ 16.7119.7|12.1 3 1.5 0 1.5 3 6.1 3 0 0 0 0 0 0 33.3
B SE¥RGE | 2.3 | 1.8 ] 2.1 2.3 2.2 0 1.7 ] 1.5 2 2.4 0 0 0 0 0 0 0.4
HH B 40 40 20 0 0 0 0 0 0 0 0 0 0 0 0 0 0
B-c SERsE | 3.7 | 3.2 ] 3.3 0 0 0 0 0 0 0 0 0 0 0 0 0 0
HiBEEE | 12.5(43.8(31.2| 0 0 |62 0 0 |62 0 0 0 0 0 0 0 0
¢ EymEE | 2.2 2.5 2.4 0 0 |29 0 0 2 0 0 0 0 0 0 0 0
g | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
P Mma | 0 | 0 ol olololololololo]o]|o]o]o 0
mEgEE | 12 | 14.7 2.71 0 0 0 0 2 0 0 0 0 0 0 | 1.3 | 61.3
P HEu | 1.5 | 1.7 1.6 | 1.8 0 0 0 0 | 1.3 0 0 0 0 0 0 | 1.1| 0.5
HA B 10 60 0 30 0 0 0 0 0 0 0 0 0 0 0 0 0
E S5 LG 2 2.4 0 2.3 0 0 0 0 0 0 0 0 0 0 0 0 0
WEsEREE [ 41.7(37.5|12.5( 4.2 | 4.2 0 0 0 0 0 0 0 0 0 0 0 0
¥ VEsE | 2.2 | 2.3 | 2.2 | 2.4 2 0 0 0 0 0 0 0 0 0 0 0 0
. HESERE [26.8(18.4| 1.6 | 0.4 0 0 0 0 0 0 0 0 0 0 0 2.8 50
¢ TmsE | 1.3 | 1.4 | 1.6 | 1.2 0 0 0 0 0 0 0 0 0 0 0 1.3 0.7

L AR EGE 1. Om/s 8. 55 JE

JEGE 1. 0m/s LA




# 1-3-109) FRICAVESREH

TR AL - BREE 22~23

K AIBREO HBBUE (%) KO (n/s) S
R om HiE
LEE NNE NE ENE E ESE SE SSE S SSW SW wsw W WNW NW NNW N (%)
mEsEE | 0 | 0 | 0 0 o | o o] o] o |1a9]a.4]6a] 0o | o | 383

A mmz | 0] 0| o 0 oo o] o] o]|re|lts|tel o o] os
mEsmE | 0 | 0 | 0 |22|56 22|11 0] o] o] o 56|30 [133] 0| o0 40

ATB gm0 | 0| o0 |22]19]15]13] 0] 0] o0 o |16z 23|0]0] 06
msme | 0 | 0 | 0 ] o |14l o |tal o | o] o] o |27]3azliz3] o | o | 479

B Tqme | 0 o] oo [31] 0 oo o] o |r3]z2]26l0] 0] o5
mEsme | 0 | 0 | o] o] oo lo| o] o] o] o] o|3n5l6xs] o] o 0

B om0 o] oo olo oo lo]o|o]olss]33|o0]o 0
mEsE | 0 | 0| o] o o] o] o] ool o] ol o |4ani]s29] 0] 0 0

© Tymme| 0 o] o]olo]olo]olo]o|lolo zolss]olo 0
mEE | 0 | 0 | o] oo lolo|lo] o] o] o] o o | o 0

P w0 o] olo]ololololo]olol] o 0o | o 0
mEmE | 0 | 0 | o | 2 |1Lel33l o | o] o] o] o] o 4a6|nol o | o 702

D Msms | 0 |0 | o0 |15]|1s8|14] 0] oo lo oo |Lr]lz9] 0] o] o4
mEEE | 0 | 0 | o] oo lolo|lolo]o]o]o 00| o | o 0

B om0 ] 0o ]o]olo|lo]o o lolo]o]o 2.8] 0 | o 0
mEsme | 0 | 0 | o] o J7z7l ol o o] o] o] o] o oilws2] ol o 0

P om0 o] o] ol22]0 o] olo]oolo zil23]o0]o 0
mEsEe | 0 | 0 |0.4]26]19.2(103/04 0 | 0] 0] 0] o |22[33]0a| 0| 6L3

S Tymmm | 0 | o0 |ti|1s]|1s|t3]tLi] o] o] ool o |r3|t3|tol o] o5

TE 1A RS - JRGH 1. 0m/s 8, FFREE : JEGH 1. 0m/s AT
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2) HFOETICTHES —RIEZRRUBERNFRYPEOTFAICAWNV-5REH
BIMAARE RIS E KB LM 2R E LT b0 EFK 1-3-2 1T7R7,
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F 1-3-2(1) FRICAVE=KREH

TR Y51E 01~03

AREEO HEBE (%) ROPEHRE /s) 3

537 JE T HyBAE
NNE NE ENE E ESE SE SSE S SSW SW WSw W WNW NW NNW N (%)
) BB 0 0 3.6 | 3.6 0 .1 0 0 0 0 0 0 0 0 0 0 85.7
RRA)ibr 0 0 1.3 ] 1.4 0 1.3 0 0 0 0 0 0 0 0 0 0 0.6
) BB 0 0 0 0 0 0 3.6 0 0 0 0 0 0 0 0 0 96. 4
RRA)ibr 0 0 0 0 0 0 1.1 0 0 0 0 0 0 0 0 0 0.5
\ HEgEE | 0 0 0 0 0 0 |36] 0 0 0 0 0 |3.6] 0 0 0 92.9
SERRE |0 0 0 0 0 0 |19 0 0 0 0 0 |1.5] 0 0 0 0.5
. HiEEE | 0 0 0 |[3.6]36] 0 |36]| 0 0 0 0 0 0 |7.1] o 0 82.1
SERRE |0 0 0 |1.2]1.1] 0 2 0 0 0 0 0 0 |1.6] 0 0 0.5
5 HYERLBE 0 0 0 0 0 0 0 0 0 0 0 0 0 3.6 0 96. 4
S JELE 0 0 0 0 0 0 0 0 0 0 0 0 0 1.3 0 0.5
) HEEE | 0 0 |36] 0 |36] 0 0 0 0 0 0 0 0 [3.6]36]| 0 85.7
FHEE | 0 0 |1.2] 0 |1.1] 0 0 0 0 0 0 0 0 |1.1]1.1] 0 0.5
; HEEE | 0 0 0 0 0 0 0 0 0 0 0 0 0 |7.1] o 0 92.9
SER R |0 0 0 0 0 0 0 0 0 0 0 0 0 |1.2] o 0 0.5
. mEgE | 0 [3.6] 0 0 0 0 0 0 0 0 0 0 0 [3.6] 0 |36]| 89.3
FHEE | 0 | 1.5] 0 0 0 0 0 0 0 0 0 0 0 |1.4] 0o |1.2] 0.6
9 HYERLAE 0 0 0 0 0 3.6 0 7.1 0 0 0 0 3.6 [10.7]10.7]| 3.6 60. 7
S JELH 0 0 0 0 0 1.1 0 1.7 0 0 0 0 1.1 ] 1.8 1.5 | 1.5 0.7
0 HBLBE | 3.6 0 3.6 | 3.6 0 0 7.1 ] 3.6 0 0 0 0 3.6 | 7.1 (32.1]| 3.6 32.1
S R 1.5 0 1.3 1.9 0 0 1.5 2 0 0 0 0 2.211.91]3.3]| 1.6 0.8
" HBUAEE | 3.6 0 0 0 0 0 0 0 3.6 0 0 7.1 132.1(28.6 0 25
S 1.3 0 0 0 0 0 0 0 1.7 0 0 1.6 | 3.4 4 0 0.8
» mEgE | 0 [3.6] 0 0 0 0 |7.1] 0 0 0 0 |71 28.6(42.9| 0 10.7
FHEE | 0 | 2.6 0 0 0 0 3 0 0 0 0 | 1.4 3.4 42| 0 0.5
» HEEE | 0 0 0 0 0 |7.1] 0 0 0 0 | 36| 0 |7.1]42.9| 25 |3.6| 10.7
e |0 0 0 0 0 2 0 0 0 0 |1.5| 0 |2.5(33[36]|1.2] 07
" HEEE [ 3.6 | 0 0 0 0 0 |10.7] 0 |7.1]36|36]| 0 |10.7]28.6/17.9] 3.6 | 10.7
SR | 1.5 0 0 0 0 L7 0 |1.9]22|31] 0 |31]29|36]|25]| 0.8
s HYERLBE 0 0 0 0 3.6 | 3.6 | 7.1 ]10.7| 7.1 | 3.6 0 0 14.3(114.3]17.9| 7.1 10.7
S JELE 0 0 0 0 1.9 2 2 2.6 [ 1.8 ] 1.1 0 0 1.9 ] 2.2 3 2.5 0.7
6 HBUAEE | 3.6 0 0 3.6 0 7.1 1 3.6 |10.7] 3.6 0 3.6 | 7.1 | 7.1]14.3]| 3.6 32.1
S 1.4 0 0 1.4 0 1.5 | 1.6 | 2.5 | 2.1 0 1.5 2.6 2.9 2.1 1.2 0.7
7 HYERLBE 0 0 10.7 0 0 7.1 1 3.6 |14.3]| 3.6 | 3.6 0 0 0 3.6 0 3.6 50
SPES) JELE 0 0 1.4 0 0 1.2 | 1.2 2.6 |2.7|22 0 0 0 3 0 1.7 0.7
" MsgEE | 0 | 7.1 0 0 |36] 0 |10.7]10.7| © 0 0 0 0 0 [3.6] 0 64.3
FHEE | 0 | 1.3 ] 0 0 |2.1] 0 |26]29]| 0 0 0 0 0 0 |1.6] 0 0.7
» HEEE | 0 0 0 0 | 7.1]10.7|3.6|7.1]| 0 0 0 0 0 0 [3.6] 0 67.9
e |0 0 0 0 2 |16]21]|22] 0 0 0 0 0 0 [28] 0 0.6
2 HEEE [ 3.6 | 0 0 0 0 |3.6[36|36]| 0 0 0 0 0 0 0 0 85.7
SR | 2.3 0 0 0 0 |1.2]1.6|21] 0 0 0 0 0 0 0 0 0.5
o HAERLAE 0 3.6 0 3.6 0 0 0 0 0 0 0 0 0 3.6 0 0 89.3
S JELE 0 1.1 0 1.8 0 0 0 0 0 0 0 0 0 1.2 0 0 0.6
9 HBLEEE | 3.6 0 0 0 0 0 0 0 0 0 0 0 0 3.6 | 3.6 89.3
24 R 1.1 0 0 0 0 0 0 0 0 0 0 0 0 1.1 ] 1.1 0.5
9 HEBLEEE | 3.6 0 0 3.6 0 0 3.6 0 0 0 0 0 0 0 0 0 89.3
RRA)ibr 1.2 0 0 1.3 0 0 3 0 0 0 0 0 0 0 0 0 0.6
o HEsEE | 0 0 0 3.6 0 0 0 0 0 0 0 0 0 0 |3.6]| 92.9
SERRE |0 0 0 2.31 0 0 0 0 0 0 0 0 0 0 |1.1]| 0.5
e Mg | 1 (07,0909 1 |21 3 |2.8/09]06|03]0.4|24[83|86]|1.6| 643
EHEE | 1.5 1.6 | 1.3 | 1.5 1.8 | 1.5 | 2 | 24| 2 |1.8]23|1.4]22]|28[33]|1.6]| 0.6

TE 1 AR - B 1. 0m/s B, 99EEF

JEGE 1. 0m/s AR

IR 1-3-8




& 1-3-2(2) FRAICAVEIREH

TR 7 E 04
AREEO HEBE (%) ROCPEHRE /s) S EE
537 JE T LB
NNE NE ENE E ESE SE SSE S SSW SW WSW W WNW W NNW N (%)
) BB 0 0 0 3.6 0 3.6 | 7.1 ] 3.6 0 0 0 0 0 0 0 3.6 78.6
RRA)ibr 0 0 0 1.1 0 1.1 1.9 2.2 0 0 0 0 0 0 0 1.2 0.5
) BB 0 0 0 0 3.6 0 0 0 0 0 0 0 0 0 0 0 96. 4
RRA)ibr 0 0 0 0 1.1 0 0 0 0 0 0 0 0 0 0 0 0.6
\ s | 0 0 [3.6] 0 [36] 0 [3.6] 0 0 0 0 0 0 0 0 0 89. 3
SERRE |0 0 [1.2] o [1.1] 0o [1.3] 0 0 0 0 0 0 0 0 0 0.6
. HEsEE | 0 0 0 [3.6(36|36] 0 0 0 0 0 0 0 0 0 0 89. 3
SERRE |0 0 0 |1.2]|1.3]16] 0 0 0 0 0 0 0 0 0 0 0.5
5 HYERLBE 0 0 0 7.1 0 3.6 | 3.6 0 0 0 0 0 0 0 0 0 85.7
S JELE 0 0 0 1.3 0 1.4 | 1.7 0 0 0 0 0 0 0 0 0 0.5
. HEEE | 0 0 0 0 0 [3.6]36|71] 0 0 0 0 0 0 0 0 85.7
e |0 0 0 0 0 |[1.1]1.4|16] 0 0 0 0 0 0 0 0 0.5
; HEEE | 0 0 0 0 0 [3.6]36|36] 0 0 0 0 0 0 |36]| 0 85.7
e |0 0 0 0 0 |[1.3]1.2]|26] 0 0 0 0 0 0 2 0 0.4
) HEEE | 0 0 0 0 0 0 0 |36[36]| 0 0 0 |36|71]|71]| 0 75
SRR |0 0 0 0 0 0 0 |32(47]| 0 0 0 |1.2]1.2]|1.1] 0 0.6
9 HYERLBE 0 0 0 0 0 0 3.6 | 3.6 | 3.6 0 7.1 (3.6 |7.1]10.7]| 7.1 0 53.6
S JELH 0 0 0 0 0 0 1.2 1 2.6 | 3.2 0 1.3 | 1.5 1.4 1.4 1.8 0 0.6
0 BB 0 0 0 0 0 0 0 10.7] 7.1 3.6 [10.7| 25 7.1 0 35.7
S JELE 0 0 0 0 0 0 0 2.4 1 1.3 1.1 1.4 1.4 2.3 0 0.7
" HYERLBE 0 0 0 0 0 0 0 7.1 [10.7] 3.6 1136 7.1]17.1/(10.7 0 42.9
SPES) JELE 0 0 0 0 0 0 0 1.3 12.4|1.6 | 1.6 1.3 |1.3|2.3] 1.6 0 0.8
» HEgEE | 0 0 0 0 0 0 0 0 |21.4(21.4(10.7]14.3| 7.1 3.6 | 7.1] 0 14.3
e |0 0 0 0 0 0 0 0 |2.1]1.6|1.7]1.4|15]1.6][|27] 0 0.6
» mEgE | 0 [3.6] 0 0 0 [3.6] 0 0 |21.4(21.4|7.1]10.7|7.1]3.6|7.1] 0 14.3
FHEE | 0 | 1.2] 0 0 0 [1.2] 0 0 |22]22|19]1.8|1.5[1.9|19] 0 0.6
" HEEE | 0 0 0 [3.6] 0 0 0 0 | 25 [21.4|14.3]10.7| 3.6 | 3.6 |3.6| 0 14.3
e |0 0 0 |1.1] 0 0 0 0 3 2122151218 ]1.2] 0 0.7
s HYERLBE 0 0 0 3.6 0 0 0 10.7135.7|17.9| 7.1 | 3.6 | 3.6 3.6 0 14. 3
S JELE 0 0 0 1.4 0 0 0 2.9 131 1.7 2 2.2 1.5 0 1.4 0 0.6
" HYERLAE 0 0 0 3.6 0 0 0 17.9] 25 7.1 7.1 (7.1 0 3.6 0 28.6
S JELE 0 0 0 1.1 0 0 0 2.812.8|2.2 2.2 2.1 0 1.4 0 0.7
7 HYERLBE 0 0 0 3.6 [ 7.1 ]3.6]3.6|10.7|28.6 0 0 0 0 0 7.1 0 35.7
SPES) JELE 0 0 0 1.1 |1.1]1.2|1.8|28]3.4 0 0 0 0 0 2.1 0 0.6
s HEgEE | 0 0 0 0 0 0 0 | 25 [17.9] © 0 0 0 0 |36]| 0 53.6
e |0 0 0 0 0 0 0 |2.7]32]| 0 0 0 0 0 |1.7] 0 0.7
» HEEE | 0 0 0 0 0 0 0 |14.3]14.3| 0 0 0 0 0 3.6 | 67.9
SRR |0 0 0 0 0 0 0 |2.1]23]| 0 0 0 0 0 3 0.6
2 HEEE | 0 0 0 [3.6]36]| 0 0 [10.7]7.1| 0 0 0 0 0 |36] 0 71.4
FHEE | 0 0 0 |1.3]|1.2] 0 0 | 1.7] 2 0 0 0 0 0 |29 0 0.7
o HAERLAE 0 0 0 3.6 3.6 [10.7 0 3.6 0 0 0 0 0 3.6 0 75
S JELE 0 0 0 1.2 1.2 ] 1.5 0 1.4 0 0 0 0 0 2.9 0 0.7
9 BB 0 0 0 7.1 (3.6 |7.1]14.3 0 0 0 0 0 0 3.6 0 64. 3
R A)ibr 0 0 0 1.1 12|12 | 1.6 0 0 0 0 0 0 2.5 0 0.7
9 BB 0 0 0 3.6 | 3.6 | 3.6|3.6] 3.6 3.6 0 0 0 0 0 3.6 0 75
RRA)ibr 0 0 0 1.1 1.1 13| 13|1.2]52 0 0 0 0 0 1.7 0 0.6
o HEEE | 0 0 0 |3.6]3.6 3.6 | 7.1 0 0 0 0 0 |36]| 0 78.6
SERRE |0 0 0 |1.2]1.5 1.5 | 2.1 0 0 0 0 0 | 23] 0 0.6
e g | o o1 |o1 |21 |13|1.6|25|54)97|42|25]|24|21]|27]|3.6]|03]| 594
FHEE | 0 | 12|12 |12]1.2|1.3]1.5|24|28|1.9]1.9|1.6]|1.4|15] 2 |2.1]| 0.6

TE 1 AR : JRGE 1. 0m/s 88, 93RS : JEGE 1. Om/s AT

.

BR 1-3-9




# 1-3-213) FRICALE=KREH

TR Y51E 056~07

AREEO HEBE (%) ROPEHRE /s) 3

537 JE T HyBAE
NNE NE ENE E ESE SE SSE S SSW SW WSw W WNW NW NNW N (%)

) Mg | 4.4 | 13 | 2.5(2.2/0.6|1.4|2.8|44| 8 |7.5|55|28|1.1]03|1.7]25]| 39.3
THE#E [ 2.1 2531 1.4]1.5]|1.2|1.6]|25|32|25|1.7]|25|1.8|1.1|1.5]|1.4] 0.7

, s | 6.6 | 8 | 2.8 1.1]0.8|0.6(33]47|3.9]7.2|58]22]|0.3 .4]22 49
THE#E [ 252725 1.1 | L7|1.2|1.6]|23|36|26|26| 2 |[1.5] 0 |1.4]1.4| 0.7

\ g | 4.7 (108 1.7 0322191133 8 |9.7|47|28|1.7]|06]|1.1]|1.4 44
EHEE | 2.2 2.7 1.3 1.3 1.4|1.5]1.4|19] 3 |2.4]21|22|1.4|1.2]1.3|17] 0.7

. M | 3.6 6.6 1.9[0.8|06[25|28|25| 5 |9.7]|55|36|25|1.1|06]| 3 47.6
PR | 2.2 (3.3 1.7]1.6|1.2|1.3]1.6] 2 [32]26]|1.6|21]|1.5|1.5]|15]|17]| 07

; Mg | 5.3 (5.3 3.6 1.7/08|1.7]22]28(|89|6.6|55/|28|1.1]1.1|17]22]| 46.8
THEE | 2.9 3 | 1.5|1.5]1.4|1.7]1.4|29|33|25|1.8|1.6]1.3|1.4|1.5|15]| 0.6

. Mg | 4.4 7.23.9]1.9|1.4]1.9]|22]42(10.2]9.7|6.1| 3 |1.7]08]|0.8]|1.4]| 39.1
FHEE | 2.8 2.6 2.1 | 1.4]1.3|1.7]1.4]| 2 3 |21|Lo| 14|55 L2|1L2]| 07

; Mg | 4.2 16.93.9(1.4|06]1.7]|08]|25|12.5/89|7.8|28|03]|06]|1.1]| 3 41.3
FHEE | 4 | 2823 | 17| 1.4|1.2]1.4|21] 3 |22] 2 |17]25]|13]1.3]|1.4]| 0.7

. Mg | 4.2 | 7.8 | 4.4(2.2]0.8(2.2|33]6.4|11.1|14.4|5.8[1.7|0.6]0.8|0.8]|1.1]| 32.4
FHEE | 4.3 3.1 (2.1 |1.5]1.4|15[1.5|22] 2 |26|1.9|1.3|1.1]|1.8|1.6]|1.6]| 0.7

. Mg | 2.8 | 7.2 | 4.2 (1.9 1.4(3.6| 3 |7.8|15.2] 13 |7.5]2.5|0.8]0.3|0.6| 1.4 26.9
TR | 4.1 | 4.1 (24| 1.7]1.4|1.4]1.4| 2 |26|27]23|16]1.3|1.1]1.4]|15]| 0.8

o s (3.9 8 | 2517|1928 5 |42 18] 18| 8 [3.9|19]1.1|03]|1.1]| 17.7
TR | 3.9 | 4.5 (3.6 1.8 1.5|1.6]1.6|1.9]27|28[23|23|1.6|25]|1.1]|14] 0.8

I Mg | 4.1 (5.2 3 [ 1.9 1.4]1.1]|5.8]9.6(22.6[19.3/10.2]2.5|0.6]0.8|0.3]1.1| 10.5
TR | 5 |5.1]28|1.7]1.5|1.5]1.8|21]32| 3 |32|25|12|13]1.2]|29] 0.7

» Mg | 25| 5 | 2.5[0.8|1.1(28|3.3]7.4(22.6[26.2|11.8[2.8|0.8|1.1/0.6]1.1| 7.7
FHEE | 6.4 | 5.6 2.8 | 1.7 1.4|1.8[21|27]|36|33|35|33[25|25]|1.3| 3 0.7

» Mg | 3 [ 5.8)1.9[0.8|0.6| 3 |3.6]6.9]|27.3[26.7|9.628|0.6]1.4 14| 4.7
TR | 5.7 | 4.6 | 42| 2 |2.2|1.8] 2 | 27| 4 |41]39]|39]25]3.9 2.2 | 0.8

" Mg | 6 | 4.4)0.8(0.8|1.1|1.4|1.7]55|27.8[{23.7/13.8/5.2|2.2]06|1.1]1.1]| 3.9
TR | 5.1 | 45| 4 | 1.4] 2 |2.2]2.8| 3 | 4541424128 2 [3.7]|46] 0.8

s Mg | 5.2 5 | 1.1]0.3]0.6|1.7|1.9]6.6231[23.1[12.4[8.5|0.8|1.9|1.9]1.1| 47
THRE | 5.8 | 4.7 5 | 1.4 1.7|2.4(3.1|33|47|43|45|4.3[2.6|4.3]24]| 3 0.7

y Mg | 4.1 8 | 0.6]0.3]0.8(0.3|1.7]4.4|24.5(23.4(13.5(7.2|2.2|1.1|1.1]1.1| 5.8
PR | 4.9 5 4 |2.7]22|25]29|32|48|4.1]45|45][29]|38[3.7]|28]| 0.6

" Mg | 4.7 8 [3.3]0.3)0.3]1.9|1.9]5.5(21.5(22.6/12.9|5.5|1.9|1.7|0.6]2.8]| 4.7
TR | 4.6 | 5 [3.5|1.2]21|21]22|3.6|46|41[3.9|41[3.3| 4 [44]|29] 0.7

s Mg | 3.3 [11.6) 4.7 0 | 0.6 | 1.4 1.4]85(21.8/20.9/9.6| 3 |1.4]1.1/08]1.7| 8.3
TRk | 3.7 | 4941 0 | 1.4|1.7]25|33|44|3.7[33|33[1.9|43| 2 |1.4] 0.7

» Mg | 4.7 [13.8)3.9 0.3 | 1.1 | 1.1|1.9]5.8|15.2]21.5| 11 [ 3.6|0.8]0.8|0.8]22]| 11.6
FHEE | 3.6 | 4.3 (3.8 2 [ 1.9|1.5]29|26|42|3.6]28| 3 [23|11] 2 |23] 0.8

2 Mg | 5.2 [13.2 3.6 0.6 0.8]0.8]| 3 5 |14.6]15.2]13.8]3.9[0.8]0.6 | 1.9|2.2| 14.9
FHEE | 3.8 | 4.1 3.1 |1.2]1.6|1.4]24|26|3.4(|3.1] 3 |29]1.6|15][1.5]|31] 0.8

. Mg | 6.4 [11.3| 4.4 0.8 3.3|1.93.3]4.7/10.5[12.7|14.6| 2.8 0.6 0.3 | 1.7 2.8 18
TR | 3.7 3.6 (3.5|1.9]1.4|15] 2 |2.7]32| 3 |28(|33|1.7|17|14]|19] 0.7

’ Mg | 3.6 [14.4| 5 | 1.7 | 3 3 |3.3]33]|10.8] 11 |10.2]4.4]|0.6]0.8]|0.6]2.2]| 221
THEME [ 3.4 (3.3 (31|15 1.2|1.3|1.9]28|31]|25[23|19|1.2]|1.4[38|15]| 0.7

”s Mo | 6.9 (9.4 3.6 1.4/0.6(3.6|47]3.6|83]9.1|83[3.3|1.1]1.9| 0 |1.7]| 326
THEE [ 2.6 3.2 2 | 1.3 L7|1.3|1.8]23|31]|25(28|21|21|15] 0 |1.5] 0.7

o g | 6.4 [10.2]3.9 0.8 |1.4|08|22|36|7.8|86|72|39|1.1]|08|1.1]|33]| 368
FHEE | 2.8 2.8 1.8|1.4]1.4|1.3]1.9|31]29|27|24|17]12|12]1.2]|17] 0.6

e Mg | 4.5 8.6 3.1 1.1 |1.2]1.9|28|5.1| 15 |15.4/9.2[3.6|1.1]0.9]|0.9]1.9]| 237
PR | 3.7 3.7(2.8|1.6|1.5|1.6]1.9]26[37[33| 3 [29]| 2 [24]1L9] 2 0.7

VE 1 AR - JBGE 1. Om/s M, 998 : JE3E 1. 0m/s AT

R 1-3-10




& 1-3-2(49) FRAICAVEIREH

TR 79E 08

AREEO HEBE (%) ROCPEHRE /s) S EE

537 JE T LB
NNE NE ENE E ESE SE SSE S SSW SW WSW W WNW W NNW N (%)

) BB 0 0 0 0 0 0 0 0 0 0 3.6 | 3.6 0 0 0 0 92.9
RRA)ibr 0 0 0 0 0 0 0 0 0 0 1.4 ] 1.3 0 0 0 0 0.2

) BB 0 0 0 0 0 0 0 0 0 0 3.6 0 0 3.6 0 0 92.9
RRA)ibr 0 0 0 0 0 0 0 0 0 0 1.4 0 0 2.9 0 0 0.2
\ HEgEE | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 100
SERRE |0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0.2
. HEsEE | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 100
SERRE |0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0.2

5 HYERLBE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 3.6 0 96. 4
S JELE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1.1 0 0.2
) HEEE | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 100
e |0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0.2

; HEEE | 0 0 0 0 0 0 0 0 0 0 |3.6] 0 0 0 |36]| 0 92.9
e |0 0 0 0 0 0 0 0 0 0 |2.8] 0 0 0 |1.1] o 0.2

. HEEE | 0 0 0 0 0 0 0 0 0 |3.6] 0 0 0 0 0 0 96. 4
SRR |0 0 0 0 0 0 0 0 0 |2.6] 0 0 0 0 0 0 0.4

9 HYERLBE 0 0 0 0 0 0 0 0 0 3.6 0 0 0 0 0 0 96. 4
S JELH 0 0 0 0 0 0 0 0 0 2.5 0 0 0 0 0 0 0.5

0 BB 0 0 0 0 0 0 0 10.71] 3.6 0 0 0 0 0 3.6 0 82.1
S JELE 0 0 0 0 0 0 0 1.9 | 1.1 0 0 0 0 0 2.2 0 0.6
" HYERLBE 0 0 0 0 0 0 0 10.7]110.7] 3.6 0 0 0 0 0 0 75
SPES) JELE 0 0 0 0 0 0 0 1.9 1 1.5 | 2.8 0 0 0 0 0 0 0.6

" HEgEE | 0 0 0 0 0 0 0 |17.9]17.9| 3.6 | 0 0 0 0 0 |3.6]| 57.1
e |0 0 0 0 0 0 0 |1.6]1.6| 2 0 0 0 0 0 |3.4]| 0.7

» HEgEE | 0 0 0 0 0 0 0 |28.6[10.7|7.1] 0 0 0 |3.6]3.6 46. 4
e |0 0 0 0 0 0 0 2 | 1L.7]33| 0 0 0 | 1.4] 22 0.7

" HEEE | 0 0 0 0 0 0 0 |21.4]21.4/10.7|7.1| © 0 |7.1] 0 |36]| 286
e |0 0 0 0 0 0 0 |1.9]1.5|23]|1.6]| 0 0 |1.8] 0 |2.4]| 0.6

s HYERLBE 0 0 0 0 0 0 0 17.9117.9] 7.1 7.1 .1 0 0 3.6 39.3
S JELE 0 0 0 0 0 0 0 1.7 1 1.8 | 2.1 2.6 | 1.2 0 0 3.3 0.5

" HYERLAE 0 0 0 0 0 0 0 25 3.6 | 3.6 | 7.1 0 0 7.1 (7.1 0 46. 4
S JELE 0 0 0 0 0 0 0 1.712.1] 1.6 | 2.7 0 0 2.2 129 0 0.5
7 HYERLBE 0 0 0 0 0 0 0 7.1 (10.7] 7.1 0 0 0 14.3110.7 0 50
SPES) JELE 0 0 0 0 0 0 0 1.5 1.8 | 1.4 0 0 0 2.2 2 0 0.4

s HEgEE | 0 0 0 0 0 0 0 | 7.1]10.7| 0 0 0 |3.6|7.1]|36]| 0 67.9
e |0 0 0 0 0 0 0 | 1.8] 2 0 0 0 |1.7]1.7]28] 0 0.4
» HEEE | 0 0 0 0 0 0 0 |10.7]3.6|3.6] 0 0 0 0 |7.1] 0 75
SRR |0 0 0 0 0 0 0 |2.1]1.2|22] 0 0 0 0 |32] 0 0.4

2 HEEE | 0 0 0 0 0 0 0 |71 0 0 0 0 0 |3.6]|36]| 8.7
e |0 0 0 0 0 0 0 | 1.5 0 0 0 0 0 |2.1]1.2] 0.3

o HAERLAE 0 0 0 0 0 0 0 3.6 0 0 0 0 0 0 0 96. 4
S JELE 0 0 0 0 0 0 0 1.5 0 0 0 0 0 0 0 0.3

9 BB 0 0 0 0 0 0 0 7.1 0 0 0 0 0 0 0 92.9
R A)ibr 0 0 0 0 0 0 0 2.5 0 0 0 0 0 0 0 0.3

9 BB 0 0 0 0 0 0 0 3.6 | 3.6 0 0 0 0 0 0 0 92.9
RRA)ibr 0 0 0 0 0 0 0 2.7 1 2.6 0 0 0 0 0 0 0 0.3

o HEEE | 0 0 0 0 0 0 0 |3.6[36]| 0 0 0 0 0 |36]| 0 89. 3
SERRE |0 0 0 0 0 0 0 |2.6|26]| 0 0 0 0 0 |3.4] 0 0.1

e HEsEE | 0 0 0 0 0 0 0 |74|51]22| 1 [04]04]1.8]21]06]| 789
FHRE | 0 0 0 0 0 0 0 |1.9]1.7]23| 2 |22|14] 2 [2.4]26] 03

FE 1 A JRES R 1. 0m/s #8, 55JEEF : EEE 1. Om/s AT
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® 1-3-2(5) FRICAVLVEIREH

THHL < JRIE 09
AT HBUREE (%) ROSERIEE (n/s) g
| B
NNE NE ENE E ESE SE SSE N SSW SW Wsw W WNW W NNW N (%)
) HBUARE 0 0 0 0 0 0 0 0 0 3.6 0 0 0 3.6 | 3.6 [53.6| 35.7
T R 0 0 0 0 0 0 0 0 0 1.6 0 0 0 1.6 | 1.3 | 1.9 0.7
) HBUARE 0 0 0 0 0 0 0 0 0 0 0 0 0 7.1 256 [35.7| 32.1
T S 0 0 0 0 0 0 0 0 0 0 0 0 0 1.2 | 1.6 | 2.1 0.5
, |owse | o | oo oo oo jo]ojojololjol|o]|2]|357] 3.3
a9 | 0 | 0o J oo ofofo]olofo]ojo]o|o|z2|[L7] 06
, |owse | o | oo oo fojolo]o]ofol36]o]|o0|71]|357] 56
a9 | 0 | o oo o]o]olofo]ofo]1L9lo|o [22[1L7] 05
5 HBUERE 0 0 0 0 0 0 0 0 0 0 0 0 0 3.6 | 256 |14.3] 57.1
S8 i 0 0 0 0 0 0 0 0 0 0 0 0 0 2.6 | 1.6 | 1.8 0.5
o |owse [36] 0 | o oo fojo]olololofofori]rL]s1] 50
a9 | 13| 0 | o [ o | o] oo lofo]of o] o] o |L8[LI|L8[ 05
[ | 0 | o 36] 0 o |36] 0 s6] 000 |36]36 0 |17.9] 64.3
g | 0 | 0 |12 0 | 0 [13] 0 |t2lo [0 ] 0|21 0 | 18| 0.4
, |mE | 0 | o 3.6 [17.9]7.1] 0 [ 0 [36] 0 | 0 | 0 3.6 0 | 0 | 64.3
P | 0 | 0 Lij1slee)l o[ o 14a[ 0] 0|0 L2 0| o | 07
9 HBUERE 0 0 7.1 110.7]21.4]10.7| 3.6 | 3.6 0 0 0 0 3.6 0 0 0 39.3
S8 i 0 0 1.2 | 1.5 1.6 2 2 2.6 0 0 0 0 1.2 0 0 0 0.6
0 HIBE 0 0 3.6 0 25 121.4110.7| 0O 3.6 0 0 0 0 0 3.6 0 32.1
S8 i 0 0 1.1 0 1.6 | 1.6 | 1.4 0 1.3 0 0 0 0 0 1.4 0 0.7
" HBUARE 0 .1]13.6[10.7]10.7] 7.1 17.9] 7.1 0 3.6 0 0 0 0 3.6 0 28.6
S8 i 0 1.2 ]1.4]11.3]1.6]1.5]1.8]|1.8 0 1.1 0 0 0 0 2.3 0 0.7
L mmmE | 0 | o 0 | 25 [21.4]10.7[10.7] 0 | 0 | 0 [0 | 0| 0 |71|71]| 17.9
FHgEE | 0 | 0 0 J21) 2 [13[15] 0 0o o] o0|o0]25|2]| 06
L | | o 636 o [s6irelirofse|se| o [a6] oo faelri]ri]
T | 0 |2.4|1.1] 0 [1.4[25[ 1514|140 [1.2] 0] 0 |19|15] 2 | 0.8
o N | o o | o fselsejus|raf7afras6] 0| o] o [s6]0r]s6] 357
T | 0 | 0 | 0 [1.5[1.9(33[1.6|1.4|1.5[11] 0| 0| 0 |28|22[15| 0.8
s HBUERE 0 0 0 0 0 |17.9] 3.6 0 3.6 | 3.6 [10.7] 3.6 0 [10.7]17.9] 7.1 21.4
S8 i 0 0 0 0 0 2.8 | 1.5 0 1.1 ]11.2]1.4] 15 0 1.711.91]27 0.8
" HBUERE 0 0 0 0 0 |10.7]7.1]3.6]3.6 0 0 0 7.1 3.6 [17.9]10.7| 356.7
S8 i 0 0 0 0 0 2.3 1.6 1.1]1.2 0 0 0 2.4 1.1 | 1.8 | 1.8 0.7
7 HBUERE 0 3.6 0 0 3.6 3.6 0 0 0 0 0 7.1 3.6 25 [14.3] 39.3
S8 i 0 2 0 0 1.2 2.3 0 0 0 0 0 1.8 1.9]11.9]2.2 0.7
o e | o J o Jolofrifselrifse] o oo o 0r]se[1ro]24] 2
T | 0 | 0 | 0 [ 0 [1.6[1.5]1.6/1.9] 0 [0 | 0| 0 |19|24|1.7[26]| 0.6
o s | 0 | o o oo sels6] oo o ]o|o|71]o[24][86] 357
T | 0 | 0 | o [ o | o f27[1Li] oo o] 0| 0]L9|lo |L7[21] 0.6
b Lt | 0 [ o oo lofselolo]o]ofolol]o w7436 25
T | 0 | 0 | o [ o | o0 f26[ 0 0|0 o] 0| 0]o|2i|L5]2] 08
o HHBUERE 0 0 0 0 0 3.6 0 0 0 0 0 0 0 3.6 |17.9]53.6| 21.4
8 i 0 0 0 0 0 2.2 0 0 0 0 0 0 0 1.4 [ 1.5 ]2.3 0.7
9 HBUARE 0 0 0 0 3.6 0 0 3.6 0 0 0 0 0 0 [17.9]53.6| 21.4
T S 0 0 0 0 3.2 0 0 2 0 0 0 0 0 0 1.8 ] 2.1 0.7
9 HBUARE 0 0 0 0 3.6 0 3.6 0 0 0 0 3.6 0 0 [21.4]53.6| 14.3
T S 0 0 0 0 2.6 0 2.7 0 0 0 0 1.1 0 0 1.6 | 2.2 0.4
p Lmmse | o | o oo lofofoofselo]o]o|s6] o]0 |swe 2
a9 | 0 | o | oo o]o]o o fai]ofo]oti]o 192 ]| 05
oy s 010609 1252 61] 4 [19]12lo6]06/06] 182813401 | 35
a9 | 1.3 | 1.7 |12 [1.4]1.7[22]1.6]|1.6|1.4[1.2]1.4[1.6|1.8|1.8|1.7] 2 | 0.6

VE 1 AR - JBGE 1. Om/s M, 998 : JE3E 1. 0m/s AT
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& 1-3-2(6) FRICAVEIREH

TR 79E 10
AREEO HEBE (%) ROCPEHRE /s) S EE
537 JE T LB
NNE NE ENE E ESE SE SSE S SSW SW WSW W WNW W NNW N (%)
) BB 25 |14.3] 3.6 0 3.6 0 0 0 0 0 0 0 0 0 0 3.6 50
RRA)ibr 1.4 |1 1.6 | 1.6 0 2 0 0 0 0 0 0 0 0 0 0 1.9 0.7
) BB | 14.3[35.7 0 0 0 0 0 0 0 0 0 0 0 0 3.6 46. 4
RRA)ibr 1.7 ] 1.6 0 0 0 0 0 0 0 0 0 0 0 0 1.1 0.5
\ Mg | 25 | 25 | 3.6 0 0 0 0 0 0 0 0 0 0 0 0 |3.6]| 42.9
EHEE | 1.5 | 1.8 | 1.3 | 0 0 0 0 0 0 0 0 0 0 0 0 |1.1] 0.5
. MR |28.6(21.4| 0 0 0 0 0 0 0 0 0 0 0 0 0 |3.6]| 46.4
EHEGE | 1.4 | 1.4 0 0 0 0 0 0 0 0 0 0 0 0 0 | 1.4]| 0.6
5 HEBEE 1 21.4(28.6 0 0 0 0 0 0 0 0 0 0 0 0 0 3.6 46. 4
S 1.7 1.4 0 0 0 0 0 0 0 0 0 0 0 0 0 1.3 0.6
. mEgE | 25 (214 7.1 O 0 0 0 0 0 0 0 0 0 0 0 46. 4
SR | 1.4 1.6 | 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0.6
; Mg [10.7]10.7] 0 | 3.6 0 0 0 0 0 0 0 0 0 0 0 | 36| 71.4
SR | 1.3 | 1.4 2.2 0 0 0 0 0 0 0 0 0 0 0 |1.1]| 0.5
) MsgEE | 3.6 0 | 7.1] 0 0 0 0 |10.7|7.1| 0 0 0 0 0 0 0 71.4
FHEE | 1.8 0 | 1.8 0 0 0 0 |1.4]1.6| 0 0 0 0 0 0 0 0.5
9 HBAEE | 7.1 0 14.3 0 0 0 0 10.7117.9] 7.1 0 0 0 0 0 0 42.9
S JELH 1.2 0 1.9 0 0 0 0 1.2 12.1] 1.8 0 0 0 0 0 0 0.6
0 B | 3.6 | 3.6 |10.7| 3.6 0 0 3.6 | 3.6 [14.3]21.4 0 0 0 0 0 0 35.7
S JELE 1.7 1.1]12.1|1.3 0 0 1.7 1.4 1.9 1.9 0 0 0 0 0 0 0.7
" B | 7.1 [17.9 3.6 0 3.6 0 21.4128.6 0 0 0 0 0 0 17.9
SPES) JELE 2 1.8 2 0 2.9 0 1.8 | 1.5 0 0 0 0 0 0 0.6
» Mg | 7.1 (1431 7.1 0 | 3.6 0 0 |3.6[21.4/10.7] 0 0 0 0 0 |3.6]| 286
FHEE | 2.5 | 2.2 3 0 [2.2] 0 0 2 | 1L7]1.7] 0 0 0 0 0 |1.1]| 0.7
» Mg [17.9(17.91 0 |10.7 0 0 |3.6]71[10.7] 0 0 0 0 0 32.1
SR | 2.7 | 2.1 0 2 0 0 |1.6]1.9|17] 0 0 0 0 0 0.8
" Mg 10.7]10.7|21.4] 0 | 3.6 | 0 0 |3.6[10.7] 0 0 0 0 0 0 | 36| 357
FHEE | 2.1 21|21 0 |[1.1| 0 0 |1.3]|1.6]| 0 0 0 0 0 0 |1.5| 0.5
s HESEE [17.9(17.9(17.9( 3.6 0 0 0 0 10.7 0 0 0 0 0 0 0 32.1
SEHEGE | 2.2 | 1.9 ] 1.9 | 2.3 0 0 0 0 1.4 0 0 0 0 0 0 0 0.4
" HESEE [ 17.9(17.9(14.3| 7.1 0 0 0 0 0 0 0 0 0 0 0 0 42.9
S JELE 2 2.1 119 1.4 0 0 0 0 0 0 0 0 0 0 0 0 0.5
7 BB | 14.3| 25 0 10.7 0 0 0 0 0 0 0 0 0 0 0 0 50
SPES) JELE 1.8 2 0 2.3 0 0 0 0 0 0 0 0 0 0 0 0 0.5
s Mg |17.9(14.3(10.7] 3.6 | 0 0 0 0 0 0 0 0 0 0 0 0 53.6
FHE | 1.6 | 1.5 | 1.7 | 2.3 ] 0 0 0 0 0 0 0 0 0 0 0 0 0.6
» Mg |17.9]14.3] 3.6 | 0 0 0 0 0 0 0 0 0 0 0 0 |3.6]| 60.7
SR | 1.2 1.9 | 2 0 0 0 0 0 0 0 0 0 0 0 0 |1.3] 0.7
2 Mg |14.3]17.9| 7.1 0 0 0 0 0 0 0 0 0 0 0 0 |3.6]| 57.1
FHEE | 1.6 | 1.4 1.8 | 0 0 0 0 0 0 0 0 0 0 0 0 |1.1]| 0.7
o HEIAEE | 46.4]14.3| 3.6 0 0 0 0 0 0 0 0 0 0 0 0 0 35.7
S JELE 1.5 | 1.5 | 1.8 0 0 0 0 0 0 0 0 0 0 0 0 0 0.7
9 HEBLEEE | 21.4] 25 3.6 0 0 0 0 0 0 0 0 0 0 0 0 0 50
R A)ibr 1.3 12.1] 2.3 0 0 0 0 0 0 0 0 0 0 0 0 0 0.7
9 BB 37 |14.8| 3.7 | 3.7 0 0 0 0 0 0 0 0 0 0 0 0 40.7
RRA)ibr 1.5 | 1.8 | 1.7 | 1.2 0 0 0 0 0 0 0 0 0 0 0 0 0.7
o HsAERE | 29.6 | 40. 7 0 0 0 0 0 0 0 0 0 0 0 0 0 29.6
EHEE | 1.5 | 1.8 0 0 0 0 0 0 0 0 0 0 0 0 0 0.6
e Mg |18.4(17.6| 5.8 | 2.1 (0.4 (0.1 |0.1|1.5|4.6|3.3| 0 0 0 0 0 | 1.5| 44.5
PR | 1.6 | 1.7 2 | 1.9 1.8|29|1.7]|1.4]|1.8|1.7]| 0 0 0 0 0 | 1.3]| 0.6
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£ 1-3-2(1) FRAICAVEIREH

TR - JRIE 11
AT HBUREE (%) ROSERIEE (n/s) g
| B
NNE NE ENE E ESE SE SSE N SSW SW Wsw W WNW W NNW N (%)
) HBUARE 0 0 0 0 7.4 7.4 1185 0 0 0 0 0 0 3.7 0 7.4 55. 6
T R 0 0 0 0 1.3 [ 1.3]1.3 0 0 0 0 0 0 1.1 0 2.2 0.6
) HBUARE 0 0 0 0 3.7 114.8] 7.4 | 3.7 0 0 0 0 0 0 7.4 63
T S 0 0 0 0 L1 ]1L7]1L56]11 0 0 0 0 0 0 2.5 0.6
, e |37 0 [ o | oo fsrlusl oo fo]ojololsrisr|ol]
g | 2.1 0 | o [ o | o |11|16) oo o o0o]o]o|ri[18] 0] 05
, e | o [ o [ o oo juslralofofofofolofolsr]ol]
a9 | 0 | o | o [ oo f12j21)l0o ool o0o]o]o o 190 05
5 HBUERE 0 0 0 0 3.6 |14.3|17.9| 0 0 0 0 0 0 0 3.6 ] 3.6 57.1
S8 i 0 0 0 0 1.4 ] 1.6 2 0 0 0 0 0 0 0 1.5 | 1.3 0.6
o e | o [ o [ o | o Jselwrlor] oo fo]ololo]olselol] 7
T | 0 | 0 | o [ o [11]16]1L7] o [0 o o0o] o] oo [29]0] 05
e | 0o [ o [ o oo juslsela6] o) o]o]o|o]s6]o0|r1] 69
T | 0 | 0 | o [0 | 0 [1.7]16|18] 0 0| 0| 0] o0 |22 15| 0.5
, |ome [36] 0 | 0 | 0 |36[36/07]36] 0] 0]0]0]o0 7.1 |10.7] 57.1
ik |12 0 | o [ o Jt1f17|25]11] 0 0|0 0]o0 L8] 1.7 0.7
9 HBUERE 0 0 0 0 0 7.1 3.6 ]7.1]3.6 0 0 0 0 7.1 |17.9] 3.6 50
S8 i 0 0 0 0 0 2 1.2 12.2]1.2 0 0 0 0 1.712.4] 1.5 0.6
0 HIBE 0 0 0 0 0 0 7.1]114.3] 3.6 0 0 0 3.6 128.6[10.7| 3.6 28.6
S8 i 0 0 0 0 0 0 2 2.3 | 1.1 0 0 0 1.1 ]12.2]19]12 0.6
" HEEE | 7.1 0 0 0 0 0 3.6 7.1 0 0 0 0 3.6 |21.4(21.4[17.9] 17.9
FHEE | 1.4 0 0 0 0 0 2.4 | 2.7 0 0 0 0 2.1 1.6 2 1.8 0.8
L s | 0 o o oo jofrujofololo|o|71]17.9/429[107] 143
T | 0 | 0 | o [ o o] o220 o] o|o0]o |1L8l2il2l]23] 05
L | |s6]s6] 0o | oo o a6l o foofo|o]oaalsoelias] 107
T | 1.1 1.6) 0 [0 | 002 |0 )00 ] 0| 0] o0 |24|/19[24] 0.6
o, N Jasl o ol oo o rufofoofofo]oimelsaifine] 107
a9 | 1.9 0 | o [ o | oo sl o o] of o] o] o0 |27[21][23] 07
5 HEBE | 7.1 ] 3.6 0 0 0 3.6 0 0 0 0 0 3.6 |14.3[28.6| 25 14.3
SRR | 2.3 | 2.1 0 0 0 2.2 0 0 0 0 0 1.8 12.4]12.2]21 0.7
6 HEBE | 3.6 0 0 0 0 3.6 | 3.6 0 0 0 0 0 42.9(14.3] 32.1
PR | 1.1 0 0 0 0 2.2 | 1.3 0 0 0 0 0 2.6 | 2.2 0.5
1 HEEE | 7.1 0 0 0 0 7.1 17.1]3.6 0 0 0 0 3.6 | 7.1 [14.3] 25 25
SRR | 2.2 0 0 0 0 1.5 | 1.6 | 1.1 0 0 0 0 2.3 12819 2 0.7
o N Jasl o ol oo o firofselo oo o s6][71]s6][1a3] 357
g | 1.7 0 | o [ o [ 0o | o raltilo o o0o] o] 2 |25[21][16] 05
o | |56 ]s6] 0o | oo jwwoelwr] oo |ofofo]olse|o]s6] s
T | 3.1 14] 0 [0 | 0 [14[18] 0 |0 [0 ] 0| 0] o0 |23]0[L7] 0.6
b |mme |3.6) 0 o oo fnijese] oo o fofofo]olaelri] s
T | 2 | 0 | 0 [0 | 0 [19]16] 0|0 [0 ] 0| 0] 0|0 |18[L5| 0.6
o HEBE | 3.6 0 0 0 0 0 |17.9] 0 0 0 0 0 0 0 [10.7] 3.6 64.3
SRR | 2.2 0 0 0 0 0 1.3 0 0 0 0 0 0 0 1.5 | 1.4 0.7
9 HBUEE | 3.6 0 0 0 0 [10.7]10.7] 3.6 0 0 0 0 0 0 0 7.1 64. 3
PR | 2.8 0 0 0 0 1.2 1.8 ] 2.1 0 0 0 0 0 0 0 1.9 0.6
9 HBUEE | 7.1 0 0 0 3.6 0 |10.7] O 0 0 0 0 0 3.6 | 7.1 | 3.6 64. 3
FREGE | 1.5 0 0 0 1.2 0 2 0 0 0 0 0 0 1.7 1.3 ] 2.3 0.6
, |mme | o |s6] 0 | o |s6]1asfirel oo o olo]o 3.6 | 71| 50
a9 | 0 |1.3] 0 | 0 [1.5]1.5|16] 0 [0 | 0] 0] o]0 14026 04
oy s |36 06| 0 | o Jr2jedfioslerjos] o oo |1 ]erfizr] 9| 4
a9 | 1.9 1.6] 0 | 0 [1.2]1.6]17]19[11] 0 | 0] 0 182221 0.6
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& 1-3-2(8) FRICAVEIREH

TR E 12

AREEO HEBE (%) ROCPEHRE /s) S EE

537 JE T LB
NNE NE ENE E ESE SE SSE S SSW SW WSW W WNW W NNW N (%)

) BB 0 0 0 3.6 | 7.1 |14.3 0 0 0 0 0 0 3.6 | 3.6 0 0 67.9
RRA)ibr 0 0 0 1.6 | 1.5 | 1.4 0 0 0 0 0 0 2.1 129 0 0 0.5

) BB 0 0 0 0 17.91] 3.6 0 0 0 0 0 0 0 7.1 0 0 71.4
RRA)ibr 0 0 0 0 1.4 1.2 0 0 0 0 0 0 0 2.7 0 0 0.5

\ HiEsEE | 0 0 0 0 | 25 |7.1] 0 0 0 0 0 0 0 |10.7] 0 0 57.1
SERRE |0 0 0 0 |[1.3]1.4] 0 0 0 0 0 0 0 |1.2] 0 0 0.5

. HiEsEE | 0 0 0 0 |28.6|7.1] 0 0 0 0 0 0 |3.6|36]| 0 0 57.1
SERRE |0 0 0 0 [1.5]1.3| 0 0 0 0 0 0 |1.5]|1.8] 0 0 0.6

5 HYERLBE 0 0 0 0 17.9 0 0 0 0 0 0 0 0 0 0 0 82.1
S JELE 0 0 0 0 1.4 0 0 0 0 0 0 0 0 0 0 0.5

. HEEE | 0 0 0 [3.6] 2 |3.6] 0 0 0 0 0 0 0 0 0 0 67.9
FHEE | 0 0 0 |L7|1.6|1.2] 0 0 0 0 0 0 0 0 0 0 0.5

; HEEE | 0 0 0 0 |7.1]36|36] 0 0 0 0 0 0 |7.1] 0 0 78.6
e |0 0 0 0 3 1411 0 0 0 0 0 0 |1.8] 0 0 0.4

) HEEE | 0 0 0 |7.1]36|36] 0 0 0 0 0 0 |3.6|36]| 0 0 78.6
SRR |0 0 0 |L.5|1.1]| 2 0 0 0 0 0 0 |1.1]25]| 0 0 0.6

9 HYERLBE 0 0 0 3.6 [{10.7] 3.6 0 0 0 0 0 0 7.1 (10.7 0 0 64. 3
S JELH 0 0 0 2.8 1 1.8 1.7 0 0 0 0 0 0 2 1.8 0 0 0.6

0 BB 0 0 0 0 10.7 0 0 0 0 0 0 3.6 [32.1]10.7 0 0 42.9
S JELE 0 0 0 0 2.4 0 0 0 0 0 0 1.1 1.6 | 2.4 0 0 0.5

" HYERLBE 0 0 0 0 3.6 0 0 0 0 0 0 7.1 (46.4]10.7 0 0 32.1
SPES) JELE 0 0 0 0 2.4 0 0 0 0 0 0 1.4 | 1.8 | 2.5 0 0 0.7

" HEgEE | 0 0 0 0 0 [3.6] 0 0 0 0 0 |3.6(39.3[21.4] 0 0 32.1
e |0 0 0 0 0 |[1.1] 0 0 0 0 0 |22 2 3 0 0 0.8

» HEgEE | 0 0 0 0 0 0 0 0 0 0 0 |10.7]60.7|17.9] 0 0 10.7
e |0 0 0 0 0 0 0 0 0 0 0 2 |2.5]|29]| 0 0 0.3
" HEEE | 0 0 0 0 0 0 0 0 0 0 0 |17.9]35.7]21.4| © 0 25
e |0 0 0 0 0 0 0 0 0 0 0 |1.5|21]26] 0 0 0.7
5 HYERLBE 0 0 0 0 0 3.6 0 0 0 0 0 3.6 [42.9| 25 0 0 25
S JELE 0 0 0 0 0 1.4 0 0 0 0 0 1.5 1.8 ] 3.1 0 0 0.3
" HYERLAE 0 0 0 0 7.1 0 0 0 0 0 0 3.6 [21.4]17.9 0 0 50
S JELE 0 0 0 0 1.2 0 0 0 0 0 0 1.1 2.5 ] 3.2 0 0 0.4

7 HYERLBE 0 0 0 3.6 | 3.6 0 3.6 0 0 0 0 0 21.4114.3 0 0 53.6
SPES) JELE 0 0 0 1.1 2 0 1.3 0 0 0 0 0 2.3 (3.1 0 0 0.4

s HEgEE | 0 0 0 |7.1]10.7]3.6|3.6]| 0 0 0 0 0 | 7.1]17.9|3.6| 0 46.4
FHEE | 0 0 0 |L4]1.6|1.1]1.1] 0 0 0 0 0 2 | 22|19 0 0.4

0 HEEE | 0 0 0 [3.6[286| 0 0 0 0 0 0 0 |7.1]|7.1] 0 0 53.6
SRR |0 0 0 |L7]1.7] 0 0 0 0 0 0 0 |1.1]1.8] 0 0 0.5
2 HEEE | 0 0 0 |7.1]21.4[10.7] 0 0 0 0 0 0 |7.1]36]| 0 0 50
FHEE | 0 0 0 |1.5|1.7|1.4] 0 0 0 0 0 0 |1.1]1.4] 0 0 0.5
o HAERLAE 0 0 0 0 25 |121.4 0 0 0 0 0 0 3.6 0 0 50
S JELE 0 0 0 0 1.5 1.2 0 0 0 0 0 0 1.7 0 0 0.4

9 BB 0 0 0 0 21.4121.4 0 0 0 0 0 0 0 3.6 0 0 53.6
R A)ibr 0 0 0 0 1.7 ] 1.4 0 0 0 0 0 0 0 2.3 0 0 0.5

9 BB 0 0 3.6 0 14.3110.7 0 0 0 0 0 0 0 7.1 0 0 64. 3
RRA)ibr 0 0 1.1 0 1.6 | 1.2 0 0 0 0 0 0 0 2.4 0 0 0.5
o HEEE | 0 0 3.6 |10.7| 3.6 | 0 0 0 0 0 0 0 |7.1] 0 0 75
SERRE |0 0 1.9|1.8|1.4] 0 0 0 0 0 0 0 |25]| 0 0 0.4

e HEsEE | 0 0 [0.1]1.8[125|5.2[0.4]| 0 0 0 0 | 2.1]14.3]9.7]01] 0 53.7
EHEE | 0 0 |1L1]|16|1.6]1.3[1.2] 0 0 0 0 |1.6]| 2 |26]1.9] 0 0.5
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£ 1-3-209) FRICAVEIREH

TR VE 13

AREEO HEBE (%) ROPEHRE /s) 3

537 JE T HyBAE
NNE NE ENE E ESE SE SSE S SSW SW WSw W WNW NW NNW N (%)

) BB 0 0 0 0 0 0 0 0 0 7.1 0 0 0 0 0 0 92.9
RRA)ibr 0 0 0 0 0 0 0 0 0 1.1 0 0 0 0 0 0 0.5

) HBLEEE | 3.6 0 0 0 0 0 0 0 7.1 1 3.6 0 3.6 0 0 0 0 82.1
RRA)ibr 1.1 0 0 0 0 0 0 0 1.5 | 1.1 0 1.1 0 0 0 0 0.5

\ HEgEE | 0 0 0 0 0 0 0 0 |36[36|71] 0 0 0 0 0 85.7
SERRE |0 0 0 0 0 0 0 0 |1.2]1.7|16] 0 0 0 0 0 0.6

. HEgEE | 0 0 0 0 0 0 0 0 0 7.1 0 0 0 0 0 92.9
SERRE |0 0 0 0 0 0 0 0 0 0 |1.4] 0 0 0 0 0 0.5

5 HYERLBE 0 0 0 0 0 0 0 0 0 7.1 0 0 0 0 0 0 92.9
S JELE 0 0 0 0 0 0 0 0 0 1.5 0 0 0 0 0 0 0.5

. HEEE | 0 0 0 0 0 0 0 0 |7.1]36]| 0 0 |36] 0 0 0 85.7
SER R |0 0 0 0 0 0 0 0 |1.3]1.1]| 0 0 |1.1] o 0 0 0.5

; HsgEE | 0 [ 3.63.6] 0 |3.6(3.6]| 0 0 |36[7.1]|36] 0 |36] 0 0 |3.6]| 64.3
FHEE | 0 | 2.2 1.1 0 | 1.1|17] 0 0 |1.7]1.7|15] 0 |1.1] 0 0 |1.7] 0.5

. Mg | 3.6 [10.7| 7.1 (3.6 0 |3.6]3.6]3.6| 0 |3.6|36] 0 0 0 0 0 57. 1
FHEE | 1.6 | 2.1 1.2 1.5 0 |1.8]1.4|1.4| 0 |1.2]1.4]| 0 0 0 0 0 0.8

9 HESEE | 3.6 [21.4] 3.6 | 3.6 0 10.7 0 3.6 0 0 0 0 0 0 0 53.6
E¥EGE | 2.5 | 1.9 1.6 | 1.6 0 0 1.4 0 1.3 0 0 0 0 0 0 0 0.7

0 s | 14.3110.7 7.1 | 3.6 |10.7| 7.1 | 3.6 | 3.6 | 3.6 0 0 0 0 0 0 0 35.7
S JELE 1.712.1 | 1.4 1.1 1516 1.3]|1.2] 2.5 0 0 0 0 0 0 0 0.7
" HYERLBE 0 17.9]1 3.6 | 3.6 | 3.6 | 3.6 | 7.1 |28.6| 3.6 0 0 0 0 0 0 3.6 25
SPES) JELE 0 1.6 | 1.2 | 2.2 1.6 1.1 1.7 2 2.1 0 0 0 0 0 0 2 0.9

» HEEE | 0 0 0 36| 0 |7.1]21.4/17.9]21.4|7.1| 0 0 0 0 0 0 21.4
FHEE | 0 0 0 |1.3] 0 |1.9]23|1.8]1.8|24]| 0 0 0 0 0 0 0.7

» Mg | 7.1 3.6 0 3.6 | 3.6 |14.3/28.6[17.9| 3.6 | 0 0 0 0 0 0 17.9
FHEE | 1.6 | 2.9 | 0 0 |2.1]1.3|21]23]|22]19]| 0 0 0 0 0 0 0.7

" Mg | 7.1 136 0 [3.6] 0 |71 17.9(35.7] 7.1 | © 0 0 0 0 0 17.9
FHE | 1.3 1.7 0 |1.1] 0 | 1.6 2412215 0 0 0 0 0 0 0.5

s HYERLBE 0 7.1 3.6 0 0 0 7.1 110.7({10.7]10.7 0 .1 0 0 0 3.6 39.3
S JELE 0 2.2 1.1 0 0 0 1.9 1.7] 2.2 ] 1.5 0 1.4 0 0 0 2 0.7

6 HBLBEE | 7.1 | 3.6 0 0 0 0 3.6 | 7.1 [10.7(14.3| 3.6 0 3.6 | 7.1 0 0 39.3
S 1.1 2 0 0 0 0 1.6 (2.1 1.7 1.7]1.1 0 1.1 ] 1.1 0 0 0.8

7 HYERLBE 0 0 0 0 0 0 3.6 0 35.7114.31 3.6 0 0 0 0 0 42.9
SPES) JELE 0 0 0 0 0 0 2.3 0 1.7 1.6 | 1.2 0 0 0 0 0 0.7

s HEEE | 0 0 0 0 0 0 0 0 |17.9]17.9| 7.1 |3.6| 0 0 0 0 53.6
e |0 0 0 0 0 0 0 0 |1.8|11|1.2|1.1] 0 0 0 0 0.8

» HEEE | 0 0 0 0 0 0 0 0 |10.7]17.9| o 0 |36] 0 0 0 67.9
e |0 0 0 0 0 0 0 0 |17]1.2] 0 0 |1.1] o 0 0 0.6

2 HEEE | 0 0 0 0 0 0 0 0 0 [14.3] 0 0 0 0 0 0 85.7
e |0 0 0 0 0 0 0 0 0 |1.7] 0 0 0 0 0 0 0.6

o HBUAEE | 3.6 0 0 0 0 0 0 0 0 14.3 0 0 0 0 0 0 82.1
S JELE 1.1 0 0 0 0 0 0 0 0 1.5 0 0 0 0 0 0 0.6

9 BB 0 0 0 0 0 0 0 0 0 7.11 3.6 0 3.6 0 0 0 85.7
24 R 0 0 0 0 0 0 0 0 0 1.1 ] 1.2 0 1.3 0 0 0 0.5

9 BB 0 0 0 0 0 0 0 0 0 3.6 | 3.6 0 0 0 0 0 92.9
RRA)ibr 0 0 0 0 0 0 0 0 0 1.7 ] 1.5 0 0 0 0 0 0.5

o HEsEE | 0 0 0 0 0 0 0 0 |3.6[36|36] 0 0 0 0 0 89.3
SERRE |0 0 0 0 0 0 0 0 |1.7]1.4|1.2] 0 0 0 0 0 0.6

e g [ 2.1 3.4 1209091531 |49|82|71|1.9|06|07|03| 0 |04]| 62.6
eHE | 1.5 2 | 1.3|1.5]1.6|1.6]1.9| 2 |1.9|15]1.3|12]11|11] 0 |1.9]| 0.6

VE 1 AR - JBGE 1. Om/s M, 998 : JE3E 1. 0m/s AT
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(2) BRBHOBRBRUEHRUEHOERICAVV-EROETICESH LAFOFTRICAL:
[REH
1) BEBEOBRBICHESIBLCAZOTFAICAVLWV-SREYK
B AR RIS ERE R AR E L b DL R 1-3-31T7R7,

= 1-3-3(1) KRXFH—FE
TR - BREE 01~06
= A EIEO B (%) K OCPHIRE (n/s) 3R
@ | A H LI
NNE NE ENE E ESE SE SSE S SSW Sw WSW W WNW NW NNwW N (%)
% HEsEE | 2.6 [ 2.9 | 3.1 4.1 3.5(10.3|24.5(9.1|1.5]0.3[0.8]0.7]0.1(0.4]0.5]1.8 33.8
SEES 2 1.6 [ 1.7 ]| 1.5 | 1.6 | 1.6 2 1.8 1.5]1.8|1.4|1.4]|25|19] 11|17 0.7
u HEsEE | 1.6 | 1.5 0.7 0.3]0.4|1.8]48(19.3/83]0.7[0.5]0.1 0.310.3 59.5
R | 1.5 | 1.7 1.3 12| 1.2 1.3 ]1.4|1.7]1.6]|15|1.5]| 1.4 1.6 | 1.2 0.7
* wEsEE | 1.1 ] 1.1 [0.4]0.1]0.3]|1.6 7 |11.5] 87| 1.2[0.4]0.7|12]07]0.4]11 62.4
R | 1.9 | 1.3 1.3 1.4 1.5 16|19 |1.7|16]1.3|1.6]1.3|1.3]1.3]1.3 2 0.7
% HEsEE | 3.6 | 2.5 1.1 ]10.6]0.7(3.9]13.9[3.9|1.3]0.4]1.4]0.3 0.3]10.712.6 62.8
S| TEe | 1.9 1.8 1.5] 1.4 16| 1.7 2 1.9 1.6 1.4 1412 1.3 | 1.8 | 1.9 0.6
& 1-3-32) K[EEFH—E
TR « B 07
= HIRREO HBUEEE (%) K OSEHIEGE (n/s) 3l
@ | ® om EEE i
NNE NE ENE E ESE SE SSE S SSW SW Wsw W WNW NW NNW N (%)
% B 0 1.8 | 1.8 0 3.6 189 ]12.5[10.7| 3.6 0 0 0 1.8 1 3.6 |19.6| 1.8 30.4
SEES 0 1.3 | 1.6 0 1.2 1 1.6 | 1.6 | 1.8 2 0 0 0 1.1 1.6 ] 2.1 2 0.5
u HBEE | 3.6 0 1.8 0 3.6 0 7.1 1.8 0 0 1.8 0 16.1]23.2| 3.6 37.5
SEREE | 1.5 0 2 0 1.2 0 1.8 ] 2.1 0 0 1.6 0 2.3 1211 1.4 0.7
* B 0 0 0 0 0 0 3.6 | 5.4 0 0 0 0 1.8 | 1.8 |16.1| 1.8 69. 6
S5 JEGH 0 0 0 0 0 0 1.5 ] 1.3 0 0 0 0 1.2 (1.2]21]|21 0.6
% B 0 1.8 0 1.8 | 1.8 0 [10.7] 1.8 0 0 0 0 1.8 (7.1 8.9 0 64. 3
O em 0 1.8 0 1.6 | 1.1 0 1.8 | 1.5 0 0 0 0 1.4 12122 0 0.5
& 1-3-3Q) S[EEFH—E
TR - BREE 08~09
= A RBEO HBUIE (%) K ORI (n/s) S
@ | B m HyBLE
NNE NE ENE E ESE SE SSE S SSW SW Wsw W WNW NW NNW N (%)
% HEEE | 3.6 0 1.8 (7.1 1.8|1.8] 1.8 0 7.1126.8(21.4| 7.1 | 5.4 0 0 0 14.3
SRR | 1.4 0 1.5 1.4]1.4|1.9] 1.5 0 1.9 12.6]2.1]1.8]|1.8 0 0 0 0.8
u B 0 0 1.8 | 3.6 0 3.6 0 3.6 [17.9]28.6[19.6 0 0 0 21.4
S5 JEH 0 0 1.6 | 1.3 0 1.5 0 1.6 2 2 1.4 0 0 0 0.8
® B R 0 0 3.6 | 3.6 1.8]3.6]|3.6 0 3.6 |12.5(12.5| 5.4 | 8.9 0 0 0 41.1
S5 A 0 0 1.4 1.6 |1.3]2.2] 1.4 0 1.9 11.6]1.9]1.5|1.3 0 0 0 0.9
% B R 0 1.8 0 0 0 3.6 | 7.1 [ 7.1]3.6(10.7|23.2| 3.6 0 0 0 39.3
O | R 0 1.1 0 0 0 2.8 25|25 |1.5]25]|21 2 0 0 0 0.7

FE 1. BRI ORR @R - TR OB TR &2 e SITER LT,
TE 2. A RS : JEGHE 1. Om/s #H, F5FURE : JEUE 1. Om/s LT

#3.KF:3~5H, E:6~8H, Fk:9~11 A, £ :12~2 A

BR 1-3-17



K 1-3-300) [EEFH—E
T - BRET 10
= H RSO LB (%) ROFELEE (n/s) L
@ | B o\ HH B
NNE NE ENE E ESE SE SSE S SSW SW WsW W WNW NW NNW N (%)
= HB L 0 0 0 5.4 0 0 0 3.6 [32.1] 8.9 [12.5|8.9| 1.8 | 1.8 | 1.8 0 23.2
- R 0 0 0 1.2 0 0 0 3 3.4 1 1.8 2 1.5 | 1.1 | 1.4] 2.7 0 0.6
= HB L 0 0 0 0 0 0 7.1 [116.1|16.1| 5.4 | 1.8 8.9 ] 7.1] 3.6 0 33.9
- R 0 0 0 0 0 0 2.2 3 1.8 1.6 |1.3]1.5] 19|17 0 0.8
g | e | 0 | 0 | 0 |1.8]18]18]|1.8/54[161)89|54]54|71/143/89]| 0 | 21.4
PgmeE | 0 | 0 | 0 | L1|L2]12|1.8|28|22]|1.5[18 12| 1L3|14]19] 0 | 0.7
L |LHEEE | 0 | 0 | 0 1.8 | 0 | 1.8[8.9]16.1|54|36|71]|1.8[36]89]| 0 | 41.1
C | mmmaE | 0 | 0 | 0 Li] o [12]26]24[22|22]| 2 |[1.5[1LT[18] 0 | 0.6
& 1-330) I[REH—EKE
TR BRBE 11~18
= AR HBBIE (%) B ORI (n/s) SR
@ | B B
NNE NE ENE E ESE SE SSE S SSW SW WSw W WNW NW NNW N (%)
g | MhBUE | 29159 |18]07]|1.3|13]22]|59|246[{216/147/7.1] 2 | 1 |11]1.4] 46
PaEk | 6.3 | 5.8 (3.7 2 | 1.8 162327 46| 4 [41]44]34[33[29|3.4| 0.8
g | B |27] 3 |07]07|1.4] 2 |24]73332(239/105/24[1.2/03]03[05| 7.5
PaEk | 3.6 | 44| 3 | 15| 1.5]1.6|22|26]39]33[29] 3 |L8[21[22]|31]| 0.9
% B | 6.6 | 7.6 3.4 | 1.2 |1.4]2.9|44|76]15.4|18.5(8.7|48|1.4|1.1]0.8] 1.8 12.5
P 5 4.6 3 1.5 | 1.6 2 1.6 1 2.6 |3.4]3.2]|3.4] 3.4 2 2.4 1 1.8 2.5 0.8
% HEEE | 3.9 9 3.1 1.4]0.3] 1 3.1 14.7(14.4(20.6|11.4] 4.7 ] 1.1 ] 1.9 1 1.7 16. 2
| oy 5 4.413.2|1.8]1.5]1.9|2.2]2.9]3.8 4 4.113.4]12.3]3.6]|3.4]| 2.4 0.7
& 1-33(6) [REH—KE
T« BB 19
= ARISOIMBURIE (%) K OCFHIEE (n/s) 55
g | B B
NNE NE ENE E ESE SE SSE S SSW SW Wsw W WNW NW NNW N (%)
g | B | 0 | 0 ] o | o]0 |0 ] 0 |89|I79/71|36]|18| 0 |36[|71|18] 482
PEE | 0 | 0o | 0o | 0o | 0 |0 |0 |1L4[1.5]|25[25]31] 0 |1.8]/22]33]| 0.6
g | | 0 | 0o ] o oo oo |321|1L8]18 0| o |wLs 0 | 62.5
PHEE | 0 | 0o | 0o | 0o | 0|0 | 0 |1L8[1l|L3 0| o0 |L2 0| 0.5
% HE L 0 0 0 0 0 0 0 7.118.9 0 3.6 0 1. 5.4 | 1.8 0 71.4
P 0 0 0 0 0 0 0 1.5 | 1.4 0 1.8 0 1. 2.5 | 1.7 0 0.5
% HE L 0 0 0 0 0 0 0 7.1 (14.3]10.7 1.8 | 1. 3.6 | 1.8 | 3.6 55.4
| oy 0 0 0 0 0 0 0 2.2 2 1.9 2.1 | 1. 2.213.212.9 0.5

T L AR ORR@IRER - T3 800 O TR R 2 b G B3 LT,
TE 2. A REE : JRGH 1. 0m/s 8, FHFEE : JEGH 1. 0m/s AT
H3.F:3~5H, E:6~8H, #K:9~11 H, £:12~2H
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x& 1-3-3(1) KREH—FE
TiH T BREE 20

= RO HBEEE (%) S OVFHIEE (n/s) I
P HHBL
NNE NE ENE E ESE SE SSE S SSW SW Wsw W WNW NW NNW N (%)
= HH U 0 3.6 | 1.8]3.621.4[19.6| 7.1 | 3.6 0 1.8 0 0 0 3.6 |14.3| 7.1 12.5
PR 0 1.6 | 1.2 | 1.4 2 2.8 1.6 2 0 1.1 0 0 0 2.7 2.2 2 0.8
= HH U 0 0 3.6 | 5.4 (3.6 |17.918.9|5.4| 3.6 0 0 1.8 0 7.1 0 42.9
PR 0 0 1.2 (1.2|1.1|22]1.7|16]|1.1 0 0 1.2 0 1.8 0 0.7
o | | 0 | 0 | 1.8)1.8]10.7/8910.7/54]36|1.8]36] 0 |54|71]107)89] 19.6
gm0 | 0 | L4|22]1.5]1.4[1.6[ 1513|1113 0 |24|14|1.9]24] 0.8
L | HiEgE | 0 | 1.8 1.8/89 |54 |54 |1.8]1.8]1.8]1.8]1.8[1.8] 0 |10.7]5.4] 50
| ormak | 0 | 14 .5|15|1.8|18|13]1.6]1.2]1.6]1.5[1.2] 0 |18|L7| 0.6
& 1-3-3(8) I[REH—E
TR BB 21
= ARG HBIE (%) R OEHEHE (n/s) 3l
@ | B B
NNE NE ENE E ESE SE SSE S SSW SW WSW W WNW NW NNW N (%)
Jo | 114.3]19.6]10.7) 18] 0 | 0 | 0 |1.8|161]125] 0 | 0 | 0 | 0 ] 0 |18] 21.4
pgmsg 2.4 2 |25[1.3] 0o | o | o | 2 21|70 ] o oo |0 |1L5] 05
g | b | 7.1]14.3/54) 0 |1.8] 0 | 0| 0 |143]107] 0 | 0|0 0] 0] o0| 464
pgmsg | 1.6 |19 2 | o 11| o] oo |t4|r7] oo oo | oo 0.6
% HiEEE | 7.1 ] 8.9 | 7.1 0 0 0 0 5.4 112.5(10.7| O 0 0 0 0 0 48.2
SR | 1.4 2 2 0 0 0 0 1.3 | 1.8 ] 1.7 0 0 0 0 0 0 0.5
% HEsE [ 14.3]10.7119.6(12.5| 1.8 | 1.8 | 1.8 | 3.6 | 5.4 0 0 0 0 0 1.8 26.8
) e | 1.9 2 1.9 2 22129 17]1.2]|1.4 0 0 0 0 0 1.1 0.6
® 1-3-3(9) IRREHK—E
T : BB 22~23
= IO BT (%) KOPEIRGE (n/s) 5 K
@ | B B
NNE NE ENE E ESE SE SSE S SSW SW WSW W WNW NW NNW N (%)
o | HEEE | 0 | 0 | 0 0 |r8|1.8] o] o | o | o |71]429]|286] 0 | 0 | 17.9
pgEsE | 0 | 0 | 0 0 |ri]13]l oo | o] o |1el22]31]0]0 0.8
g | EEE | 0 | 0 | 0 |18]36 0l o] o] o] o |10.7]464|71] 0 | 0 | 30.4
gm0 | 0 | 0 |2.8]27 0o Jo oo ] o |rajr9l22]0]0 0.5
% B 0 0 0 8.9 1] 3.6 0 0 0 0 0 1.8 [17.9]10.7| O 0 57.1
S R 0 0 0 1.9 | 1.5 0 0 0 0 0 1.1 1.7]2.2 0 0 0.7
% B 0 0 0 1.8 | 5.4 0 0 0 0 0 0 0 16.1119.6| O 0 57.1
) S R 0 0 0 1.1 | 1.5 0 0 0 0 0 0 0 1.7 3 0 0 0.3

TE 1. B ORF@IRER - T 0 OB TR 2 b G R LT,
TE 2. A EEE  JRGHE 1. 0m/s 8, F9FEE : JEGH 1. Om/s LT
HE3FE:3~5H, H:6~8H, #k:9~11 A, & :12~2 H
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2) EMRUBHROERICAVSEAOETICHSIBLAFOFRAICAVE-SREH
BIHFHAAE RICE DS RBR M 2RE L b DR 1-3-4 TR,

* 1-3-4(1) KRZFH#—E
TR HLE : VH1E 01~03
% RO HBEIE (%) K OOTHIIE (n/s) IR
@ | B H B
NNE NE ENE E ESE SE SSE S SSW SW WSw W WNW NW NNW N (%)
% B R 0 0 1.8 | 1.8 ] 1.8 0 5.4 114.3| 3.6 | 3.6 |1.8] 1.8 1.8]8.9(32.1] 1.8 19.6
S5 A 0 0 .31 19] 1.9 0 2.1 2.81| 2.4 2 3.1 1 1.413.4]2.2|35]| 25 0.7
= HiEgEE | 7.1 1.8 | 1.8 0 0 3.6 | 5.4 | 1.8 0 0 3.6 116.1(33.9| 7.1 17.9
SRR | 1.4 | 2.6 | 1.7 0 0 1.4 122 2.1 0 0 1.5 | 2.7 3.5 2 0.6
% HYERLBE 0 0 1.8 ] 1.8 0 5.4 154 1.8|3.6] 1.8 0 3.6 [ 14.3] 25 8.9 0 26. 8
SR JE s 0 0 1.1 1.4 0 1.2 | 1.5| 1.1 | L. | 1.1 0 1.5 2 3.5 1 3.3 0 0.8
% B 0 0 1.8 0 5.4 154 1.8 1.8 1.8 0 3.6 |16.1| 7.1 3.6 51.8
| v | o0 0 | 1.4 0 |1L7]24|L1]21]22] 0 3.3/12.6| 3 | 1.5] 0.7
x 1-3-412) S[EZFH—E
THIHLA - Y39E 04
= HIRREO HBUEEE (%) K OSEHIEGE (n/s) 53l
@ | B m LA
NNE NE ENE E ESE SE SSE S SSW SW wsw W WNW NW NNW N (%)
% B 0 0 0 5.4 0 0 0 3.6 [32.1] 8.9 |12.51 89| 1.8] 1.8 1.8 0 23.2
SEES 0 0 0 1.2 0 0 0 3 3.4 1 1.8 2 1.5 1.1 | 1.4 ] 2.7 0 0.6
= B 0 0 0 0 0 0 7.1 (16.1]16.1| 5.4 | 1.8 | 8.9 | 7.1 | 3.6 0 33.9
22
SEES 0 0 0 0 0 0 2.2 3 1.8 1.6 1.3 15] 19|17 0 0.8
% B 0 0 0 .81 1.8 1.8 1.8|5.4|16.1(8.9|5.4|5.4|7.1]14.3] 8.9 0 21.4
SR JE s 0 0 0 .112]1.2|18]28|22|156|1.8|1.2]1.3]|1.4] 19 0 0.7
% B 0 0 0 1.8 0 1.8 189 (16.1|5.4(3.6]|7.1|1.8]3.6]|38.9 0 41.1
) SR JE s 0 0 0 1.1 0 1.2 12.61]2.4]22|22 2 1.6 | 1.7 ] 1.8 0 0.6
x 1-3-4Q3) [EFH—E
TR YR8 056~07
= HIRREO HBUEEE (%) K OSEHIEGE (n/s) 53l
@ | B m LA
NNE NE ENE E ESE SE SSE S SSW SW wsw W WNW NW NNW N (%)
% HEsEE [ 2.9]15.911.810.7]1.3[1.3]2.2|5.91(24.6|21.6[14.7| 7.1 2 1 1.1 ] 1.4 4.6
SEYEGE | 6.3 | 5.8 | 3.7 2 1.8 1 1.6 | 2.3|27]| 4.6 4 4.1 1 4.4 |3.41]3.3]2.9]| 3.4 0.8
. HEEE | 2.7 3 0.710.7 | 1.4 2 2.4 7.3133.2(23.9(10.5| 2.4 | 1.2]0.3]0.3|0.5 7.5
22
SEEEGE | 3.6 | 4.4 3 .| 1.h | 1.6 2.2]26]39]33]29 3 .81 2.1 2.2] 3.1 0.9
% HEsEE | 6.6 | 7.6 13.4(1.2]1.4(12.9|4.4|7.6|15.4(18.5|8.7| 4.8 1.4 1.1]0.8]| 1.8 12.5
SR JE s 5 4.6 3 1.5 | 1.6 2 1.6 | 2.6 | 3.4 3.2 ] 3.4 3.4 2 2.4 1.8 | 2.5 0.8
% HBLEE | 3.9 9 3.1 11.4(10.3]1.5|31]4.7|(14.4]120.6(11.4| 4.7 1.1 1.9 1 1.7 16.2
) S5 A 5 4.413.2 (1.8 1.5[19]22]|29] 3.8 4 4.1 13.4]2.3|3.6]3.4]| 2.4 0.7

T 1. R OB BRG] - TH i

DIEFTHE % R RITHEFT LT,
VE 2. R : JEGE 1. Om/s M, 99JEEF : JEE 1. 0m/s AT
E3.EF:3~5H, E:6~8H, Bk :9~11 H, & :12~2 A
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= 1-3-4(4) SRXFH—FE
TRTE LA - V31E 08
= RGO B (%) o OEHI R (n/s) 5 L
P HBU
NNE NE ENE E ESE SE SSE S SSW SW Wsw W WNW NW NNW N (%)
o | thBussE | 0 | 0 | 0 ] 0] 0] 0|0 |89]179]71]|36]|1.8]| 0 |36|71|1L8]| 482
sprmaE | 0 | o | o | o | o | o | 0o |L4|L5|25]25[31] 0 |1.8]|22]33]| 0.6
g | s | 0 | 0 | 0] o]0 |0 |0 s21]18]18] 0] 0|0 |1L8)0|0] 625
s | 0 | o ] ol ol o | oo |nslr1]13] o] o] o0o]1L2]0]0o0 0.5
g | e | o o oo oo |0 |71]|89)0|36]0|18|54]1.8) 0| 74
s | 0 | o | o | o] o] o] o |1L5|1L4] 0 |L8] 0 |L2]25|L7] 0 0.5
L | e | 0 | o | 0o )0 ] 0 |0 |0 |71|143[107| 0 |1.8|1.8]36]|1.8]|36]| 5.4
| @ | o | o | o] o] o | o] o0 |22 2 |19 o0 |21]12]22]32]29]| 0.5
& 1-3-4(5) [EREFH—E
TR 5iE 09
= A RO HBHEIE (%) R OCEHEE (n/s) 3l
@ | B B
NNE NE ENE E ESE SE SSE S SSW Sw WSW W WNW NW NNW N (%)
g | MhBUHE | 0 |3.6|18]36]214]19.6/7.1|36| 0 [1.8) 0 | 0| 0 |36/143/71] 125
g | 0 |15 12 |14] 2 |28|16] 2 | 0o |1L1| 0| 0| 0 |27|22]| 2 0.8
g | hBE | 0 | 0 |36[54)36]17.9/89|54]3.6 0| o |18 7.1 0 | 42.9
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